8/31/24, 10:38 PM

Question Paper Name :
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Group Number :
Group Id :

Group Maximum Duration :

Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Id : 34212313143 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

g28.digialm.com/CAE/viewHtmIPDFAction.action

National Testing Agency

58 Law 30th Aug 2024 Shift 2

58 Law

2024-08-30 21:09:57
180

300

Yes

Law and General Paper

1

34212381

0

180

No

No

0

300

General Paper
342123174
1
Online
Mandatory
42
42
100
0
1
342123516
No

Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

Question Label : Comprehension

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

1/186



8/31/24, 10:38 PM

g28.digialm.com/CAE/viewHtmIPDFAction.action

The following tables shows the number of employees working in six different Offices (A-F) of an
IT Company during the years from 2018 to 2023. Based on the data in the table, answer the
questions that follow.

Year-wise Details of emplovees of an IT Company

Number of Emplovees working in office

Year
A B C D E F

2018 | 290 | 176 | 222 | 240 | 280 | 272
2019 | 256 | 132 | 240 | 224 | 304 | 264
2020 272 | 192 | 264 | 248 | 316 | 280
2021 366 | 184 | 250 | 270 | 332 | 232
2022 | 320 | 214 | 280 | 236 | 340 | 292
2023 | 300 | 226 | 296 | 258 | 348 | 300

Sub questions

Question Number : 1 Question Id : 34212313144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the year 2020, the number of employee working in office-C is approximately
less than the total number of employees working in all the six offices together.

I

2

4.

81

. 86

.28

83

Options :

1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212313145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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For all the six given years, the difference between the average number of employees working in
office-D and office-E is

1. 74

(]

. 66
i W

4.70

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212313146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In office-F, the percentage increase in the number of employees in comparison to previous year is
more than 6% for exactly -----—----- years(s)

I3

B
(g

4.4

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212313147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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For all the six given years, what is the ratio of total number of employees working in Office- A to
that in office-B?

L2
2.41:26
3.19:11

4.11:19

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212313148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the years 2018 and 2019, the ratio between the number of employees working in all the six
offices together is

1. 13:11
2.13:14
3.37:36

4.4:3

Options :
1.1
2.2
3.3
4.4

Question Id : 34212313143 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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3t glfvIg:

Sub questions

318 & St # =G P19y IR e
- BT 5 BrRIRT HHATRGl &1 e
AlBlc|D|E]|TF
2018 290 | 176 | 222 | 240 | 280 | 272
2019 | 256 | 152 | 240 | 224 | 304 | 264
2020 272 | 192 | 264 | 248 | 316 | 280
2021 | 366 | 184 | 250 | 270 | 332 | 252
2022 320 | 214 | 280 | 236 | 340 | 292
2023 | 300 | 226 | 296 | 258 | 348 | 300

Question Number : 1 Question Id
Correct Marks : 2 Wrong Marks : 0

ay 2020 H, AT ¢ H HRERT HHAIA] $1 9= 9T 98 H] I HAH 39 SR
ARG BT ol AT Y FHT % HH G|

I

I

4.

81

. 86

.28

83

Options :

1.1
2.2
3.3
4.4

: 34212313144 Question Type : MCQ Option Shuffling : No

Question Number : 2 Question Id : 34212313145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Yl UG 38 981 & A H, DI D 3R P E H SRR SHEINRG! ST 319d e
& &g T AR YA Y fba1 82

1. 74
2. 66
L W

4.70
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212313146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

®Eidg-F 4, 9 0 9 3id -31d fdhd- I81 H 7Td 94 $i Jei=1 § Hrad HHdd| & Yo o
TIARd i 6% W 31fed 381 82

I:1

a9

3.3

4.4
Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212313147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ued OHl B8 a9 & A H, HIEad-A H SRR HHANRG! &1 U8l & HAad- B H HIERd
DHHATRYT T G=&AT Y U fdd-1 g2

Li2nd

I

.41:26
3.19:11

4.11:19
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212313148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gy 2018 9 2019 H, 94l &g STl B 06 H ITH SR FHARGI DI TR & & Bl
39U fhaH1 g2

1. 13:11

2

.13:14

3.37:36

4. 4:3
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123517
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212313149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the phases of Inquiry -based learning approach in a sequence from Phase I to Phase V

A. Discussion

B. Orientation

C. Conceptualization
D. Conclusion

E. Investigation

Choose the most appropriate answer from the options given below:

1.A,B,C,D,E
2. E:AD B, C
3.B,C,E, D A

4. B, E.AC.D

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212313149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

£

U5dls SR TTH Ugd DI TR 1 U ORE Vv & b H HafId HIfolu:

A T4l

B. JHHfdrg
C. SUgdiHIyul
D. [shYy

E. 3<aYU[

-+ fGu T fasedl § 9 &gl IR &1 994 Sifeu:

Lo By G B E

2. E A DB, C
3 B.CEDA

4 B.EACD
Options :
1.1
2.2
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3.3
4.4

Question Number : 7 Question Id : 34212313150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In self-directed learning which of the following are the key features of self- directed students?

A. They have Intrinsic motivation.

B. They have the capacity to choose personal goals.
C. They have self- discipline.

D. They have self- assessment ability.

E. They have metacognitive skills.

Choose the most appropriate answer from the options given below:

1. Aand D only
2. B and E only
3.C,D and E only

4. A.B,C,DandE

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212313150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. 31 3iqyd TR gk B
B. 391 dufckid dl&d! BT I8+ H- &1 AT gldl o
C. 3H AR BT ¢ |
D. 34 U] Jelihd H3- 1 AgdI gldl ¢
E. 31 SIS S g1 g
d feu U fqdh el & 9 F8T IR &1 98- BT

1. Hdd A ARD
2. %dd B3R E
3. $Had C, D 3R E

1. A.B.C.DE

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212313151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The motivated forgetting of traumatic or other very threatening events is known as-

1. Repression

t-2

. Proactive interference
3. Retroactive interference

4. Consolidation
Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212313151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR SATHTd A1 3 YRINgES geAs 9 SR 4 &f dgd 8

1. GHT
3T Ugd

. qdeardi ugd

4. 9994

f-2

L8]

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212313152 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
(Swayamprabha Channel Number) {Theme)
A_ | Channel 10 [. | Professional Education
B. |Channel 11 II. |Basic and Applied sciences
C. [Channel 12 III. | Social Sciences and Humanities
D. |Channel 13 IV. | Applied Sciences

Choose the correct answer from the options given below:

1. A-IIT, B-II, C-IV, D-1
2. A-IV, B-III, C-11, D-1
3. A-1, B-II, CIII, D-IV

4. A-II, B-IV, C-1I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212313152 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

L

A | @10 I |caraaias (dibeEa) e
B. 9@ 11 1. |7 3R g fagH

C. [@9d12 1L | FHIeTe a9 SR JHfaas!
D. |<a 13 IV, | 3rvgad fagm

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-III, B-II, C-IV, D-1I
2. A-IV, B-III, C-II, D-1
3. A-1, B-II, C-II, D-IV

4. A-IL, B-1V, C-1I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212313153 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which of the following tools would be most effective for a teacher wanting to poll students in

real- time during an online lecture?

A. Poll evervwhere
B. Labster

C. Strawpoll

D. Mentimeter

E. Survey monkey

Choose the most appropriate answer from the options given below:

1.B, C and E only
2. B and C only
3.A.C.D andE only

4. C, D and E only
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Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212313153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafRad o 9 Y IUHI0 U S AR & GRM [daiiddl & e & [t T=5$
f21erb g it Uyl g

(]

A. U1d TR
B. TY

1 fqu Y fdsedl § 9 Fg SR &1 99 HifoT:
1.%dd B, C 3R E

HAd B 3R C

3. ®dd A, C, D 3RE

4. H9dC, D ARE

Options :
1.1
2.2
3.3
4.4

]

Question Number : 11 Question Id : 34212313154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC regulations 2018 on plagiarism. which of the following percentage of
similarity in the thesis would require a student to submit a revised thesis within six months?

1. 9%

(]

. 13%
3.42%

4. 47%

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212313154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yifge d_ el fayfaerera aer smant (g sft 9 faf499, 2018 & IR A Ude o
frafeiRad § O fara Uic=Id Saar urs S WR fhdl €13 61 ©8 018 & iR Y=Iied 2y
PEER IS GRS

1. 9%

]

. 13%

. 42%

LIFE]

4. 47%
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212313155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A researcher conducts a study on a population and obtains some results. He now wants to
generalize these results to a different population, For this, his measurements should show

1. External Validity

(]

. Internal Validity
3. Convergent Validity

4. Divergent Validity

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212313155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Udh YDl [l S & oy o 300 il g 3R 39 e GRom Uit gid g
34 98 39 UROTH| B! ha! (24 S8 1Y GHR g d SR 918dl ¢ | 39 o 39D
Ao H fafaRad g S =91ige

1. STgT a4l

2. SHIdRS e
3. SHIEERT qer
4. YR derd

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212313156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the correct statements regarding web- based study of human subjects

A. It requires considerably more time per person than laboratory based study.

B. Data collection occurs at the convenience of the participant.

C. Data collection is automatic.

D. It can be conducted on participants who would have been out of reach of the researcher in
physical mode.

Choose the most appropriate answer from the options given below:

1. A. Band C only
2.B. C and D only
3.A.Cand D only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212313156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A4 a9l & 99 MR g4 & Yo H Tgl Syl UgdH i

A. SYH TRTTRITC 329 &1 Jo1 H Uid Afdd SIhT 3Hi¥d YT &1 31dRadhdl gidl g

B. HgHIT &1 Gfael & 38R iid sl Bl Yehel fobdl Sl g1

C. 33! B 994 Wd: gidl g |

D.%%ﬂgﬁ%ﬁﬂﬁ%ﬂ%%ﬁ%@@wwd¢diﬁ Ugd °
CIR |

1 feu U fas ettt # 9 F1 IR &1 99 DI
I.had AB 3R C
2. HddB, C 3R D
3. Had A, C 3R D
4. HId A, B 3R D

Options :
1.1
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2.2
3.3
4.4

Question Number : 14 Question Id : 34212313157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the correlation coefficients computed from the following information on covariance i.e.
cov (x.y) and standard deviation Oy and @, in increasing order.

A Lot[xl]—lﬂcr =4,0,=9
ov(x,¥)=15,0, =8,0,=3
(
(

r'

C cov(x,y)=160,=7,06,=4

ceov(x,y)=2lo, =6,0,=5
Choose the most appropriate answer from the options given below:

1.8 0C. B .

f-2

B, C DA
3:C.BAD

4.D,B. A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212313157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YE-URUI 3T cov (x.y) 3R AFS fddeH! o, 3R o, ¥ Ydfeid Hafafad gt &
3{TYR IR GRS IeTd Ug Yd¢ 0Mh] Bl d¢d H T TafRUd HIfSu-

A cov(x,y)=18,0,=4,0,=9
B. cov(x,y)=15,0,=8,0, =3
C.cov(x,yj=160,=7,06,=4
D. cuv{.r, }']:2!,1:}'_1. =6,0,=5

i feu TU fah el § 9 3T 3TR &1 994 DIfIT:

1.A,C,B,D

2.B,C,D. A

3.C,B,A,D

4.D,B,A,C

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212313158 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI

(Scale of measurement)

LISTII

(Example of variable)

A | Nominal [ | Weight of students
B. | Ordinal II. |Ethmcity

C. |Interval III. | Degree of annovance
D. |Ratio IV. | Date of birth

Choose the correct answer from the options given below:
1. A-I, B-II, C-1II, D-IV
2. A-IIL B-IIL C-IV, D-I
3. A-IIT, B-IV, C-1, D-II

4. A-1IV, B-1, C-II, D-III

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212313158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CAIERIEEIELY

I I
mmﬁ%ﬁm ﬁ?a?ﬂm
A |TIf® I | &l aed
B. |pHYE® 1. | e
C. | 3R 11 | GTo &l |5 (Fe)
D. |3rqurd IV. | o4 fafd

A 16U U f[ddedl § 4 Tot 3R &1 999 HIIT;

1. A-I, B-II, C-III, D-IV
2. A-1I, B-III, C-1V, D-1
3. A-III B-IV. C-1. D-IT

4. A-IV, B-1, C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212313159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Access to information through the invention of print was responsible for the emergence of

1. Mediated class distinction

I

. Media monopoly
3. Mass media

4. Electronic device of interpersonal communication
Options :
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1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212313159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ul &1 AR gl & IURId Y1 B Sudsidl [HEfdaRad & snfdufd & fau Sorert 4i:
- Hafgd & faHg

HIfST BT THIEUDR
3. A Hifsar

—

B

4. 3{=R- d4fddd YUYl & FaldTidh SUHIU

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212313160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The development of vitascope led to:

1. The silent film era

I

. Video advertisements
3. The television network system

4. The arrival of computers

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212313160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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faeRIu & fdbTy & HRUT Fgieiad Hf Yead g
O e g &l

difSa fasmot &1

3. Eelifde Hedd yuirell o

4. SR & A Bl

Options :
1.1
2.2
3.3
4.4

—

f-2

Question Number : 18 Question Id : 34212313161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The internet portals function like

A. Folk entertainers

B. Mass circulation magazines

C. T.V. networks

D. Sites of meta-aggregate contents
E. The home page of users

Choose the most appropriate answer from the options given below:
1. A B, Conly
2.48:; B, C, Donly
3.A.C,D only

4.B,C,D.E only

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212313161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. TP FARSHDT & THH
B. 5o Ul H URdnidd g drell UEidb18ll & THM
c. 91, d1. Fadd & A

D. AU Urad IrEll & -idl & GHH
E. TNTh ISl & T U (319 Ud) & 99

- feu U faded! ¥ FpT IR B 90 HIST:
1.Hdd A, B, C
2. $Hdd A, B.C, D
3.$HddA. C.D
4.®dd B.C.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212313162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The chronological sequence of the space-biased media of communication, as identified as Harold
Innis:

A. Radio

B. Television
C. Papyrus

D. Paper

E. Newspaper

Choose the meost appropriate answer from the options given below:

1A C.DEB

b2

EDVEAB
3. D, E, B, AL

4.E.B,A,D,C
Options :
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1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212313162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RS 3 T Faferd R SHfiAd GaR TS &1 Siam it 3w 8

A STl

B. callidu

C. HI9UA (UURY)
D. I

E. HHHK UH

4 fou U faeedl § 9 ¥8T 3R &1 994 DI

1.4, C, D, E; B

B

LD EAB
3.D,E,B,A,C

4. E.B,A,D.C
Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212313163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LIST1I LISTII
{Concept) (Meaning)

A |Frames [. | Organized sub- culture

e I The behv_at that people are duped into blindly accepting the prevailing

ideology

Falze . .
C. . III. | A class of messages that share distinct characteristics

CONSCIONSNEss
D. | Genre IV, | Social constructs

Choose the correct answer from the options given below:

1. A-1, B-II, C-III, D-IV

t-2

3. A-III, B-1V, C-1, D-II

4. A-1V, B-1, C-1II, D-III

Options :
1.1
2.2
3.3
4.4

. A-II, B-III. C-IV, D-I

Question Number : 20 Question Id : 34212313163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

g28.digialm.com/CAE/viewHtmIPDFAction.action

T 1

g 11

(STTYUTITM) 3
A |BH L |H7fed 3U- S

: Te 3y 1S Aeljg SMeY &1 3HE 96 B WIHR BI- W G Ui &1
B |hsH 1L ; S

HOG Il | 1o | =i o v ol o gy faRieand 9ren $ed §
D. | g v | grarfes e

" U U f[ddedl § U I8t 3R 1 994 BIIT;

1. A-I, B-II, C-III, D-IV

2. A-11, B-IIT, C-1V, D-1

LN

- A-IIL B-IV. C-1, D-II

4. A-IV, B-1, C-II, D-III
Options :

1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212313164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the missing term in the series given below:

1, 75

I

b

4.

25.81,121,.72. 337

. 209

208

Options :

1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212313164 Question Type : MCQ Option Shuffling : No
https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Correct Marks : 2 Wrong Marks : 0

:ﬁﬁdﬁr{ gl I o TR 1 BIfSIT:

Va6l 1210857

[
b3
—
—

3.209

4. 208
Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212313165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is/ are true?

A. The average of given data is less than the greatest observation and greater than the smallest
observation of the given data.

B. If the observations of a given data are equal, then the average of the data may or may not be
same as the observations.

C. If all the observations of a given data get increased by x, then their average is also increased
bv x.

D. If all the observations of a given data are divided by x. then their average may or may not
change.

Choose the meost appropriate answer from the options given below:
1. A B, Conly
2.B,C,Donly
3.A. . Conly

4. D only

Options :
1.1
2.2
3.3
4.4
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Question Number : 22 Question Id : 34212313165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frafafad & ¥ & a1 $1H-4 94 5/62

A. %ﬁnﬁﬁﬁﬁﬁraﬁﬂﬁﬂﬁﬂﬂﬁwﬁwaﬁ?ﬁqw&ﬁmﬁ%mﬁwﬁm
|

B. TG fGU U 3{{H 3! & UeiU] SRAR-GRAR g, dl 3llds! & Sad Uefon 4 {43 g1 9dhdl ¢
a1 Teit 4 g1 gpan G|

& Ir!:c‘:f%t!m 3ifarsl & T Ueur & x 31 3fg Bl ol g, 91 3% S H Ui x B IS &
G

D. 9 fGU 7T 3fidms! & I Uermn &f x § fauiTd faodn 51 € i 8 9dl ¢ [ a1
319d qRafdd gl Uohdl g a1 el Yl 81 Uhdl g

+id fau U fad el § 9 @81 3R &l 994 Diflu;
. HAdA. B, C

2. ®dd B.C.D
3. HAd A, C
4. ®dd D

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212313166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The numerator of a fraction is 4 less than its denominator. If the numerator is decreased by 2 and
denominator is increased by 1, then the denominator becomes 8 times the numerator, find the

fraction.

3

1. —

7

5 3

9

3

+ ad

8

2

. P

7

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212313166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U 175 T 3 3P g U 4 S g1 A 3 H 2 B HHl BT W AR GIH 1 Pl dfg Bl W
dl €2, 32T 3T THT YD g1 A6 | 98 1374 1 B

3

i

7

22

9

e

8

4.2

7

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212313167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A man sold an article at a profit of 6.5%. If he had sold the article for 2 1250 more, he would
have earned a profit of 10%. What is the cost price of the article?

1. ¥1.0000

(]

. £10,500
3. £9.000

4. £9.,500
Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212313167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uch AT = 6.5% &b 1Y TR U 9] 1| gfe 394 3Y, I B 5. 1250 4D e o o1
BT 1 Y 19% ATH §AT 81T 39 a%d &l AT Hed 341 82

1. £1,0000

]

. £10,500

3. £9,000

4. £9.,500

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212313168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In a certain languages:

“Sun rises in the East™ is coded as “ST SR SI SH SS”

“Sun sets in the West™ is coded as “ST SE SI SH SU”

“Your house faces East” is coded as: *“SN SM SA SS”

“His house faces West™ 1s coded as: "SC SM SA SU"

How the words “East”. and “West” are coded in this languages respectively?

1. SR, SE

[

. SS. SN
3.SS,SU

4. SN, SC

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212313168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ERRNEIR

“Sun rises in the East” @] “ST SR SISH SS"H 30 H P ldg ERISIGI

“Sun sets in the West” @I “ST SE SI SH SU” & ¥4 H Deds [T Sl g
“Your house faces East” B “SN SM SA SS” & 0 H DHed [l STl g

“His house faces West” @I "SC SM SA SU" & ¥U H Dcd [HaT STdl g

T YW H “East”, “West” o1 Teq| D! HH: [hd UBR T Hedg hdl 141 52

1SR SE

[

' SS. SN
3.8%. 811

4. SN, SC
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212313169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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"Either we forcibly sterilize the third world people or the world population will explode and all of
us will die. We certainly don't want to die, therefore we must forcibly sterilize the third world
people." Which informal fallacy is committed in the above argument?

1. Hasty generalization

[

. Slippery slope
3. False Dichotomy

4. Ad hominem
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212313169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<71 dl ella {3y & AT B Ieqdep THeicl Bl <TG a1 fa% T STieAr H fawhle giv 3k gH

ol AT TR S, g MY ¥U U 0T 98T g d Suiart g4 Jaid 9y & il &l ddgdd
TS BT AMeT | ITLdd Sfdd H BT SHIDRING Tb &¥ g2

1. A= IErdisRo

2. fhga-gad aM
3. 39 TgHTSH (BT SIEdhIclHl)
4. AfGITId 3ne (Us gifiam)

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212313170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following statements are true?

A. Propositions or statements can be true or false.

B. Propositions can be valid or invalid.

C. A valid argument must contain only true premises.

D. A valid argument must have a true conclusion.

E. In a valid argument, if its premises are true, the conclusion cannot be false.

Choose the most appropriate answer from the options given below:

1. A and E only

b2

.C. D and E only
3.Dand E only

4. A, B, Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212313170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafdRad H ¥ ®H-4 d2H 9d g2

A. UGl a1 H2F 9 91 39d 81 9ad o

B. Ufaiftrat 3y a1 21d g1l 9ad gl

C. U 3y, gid § had Y SR g1 xiee g+l =gy |

D. U 9% gfeki § 330 G [Asht g1 d1fgu]|

E. U 48 b H IIE SYDT ARG T € Al (5PN 38 el gl Gl |

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. hdcd A 3R E
2. Hdd C, D 3RE
3. HddD 3R E
4. BT A, B,C 3R D

Options :
1.1
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2.2
3.3
4.4

Question Number : 28 Question Id : 34212313171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in the order of decreasing connotation.

A. Polvgon
B. Rectangle
C. Geometry
D. Square

Choose the meost appropriate answer from the options given below:
1. LB Coh
2.CABD
3A.C.B,D

4.D.B.AC
Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212313171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad 1 7und & ged & ¥ Fdfud $ife:

A, OTEHTHE
B. 3gd
C. STfert
D. 3

A fGu U A edl § O 8T 3R &1 904 DifoiL:

.D,B,C, A

2. 048 B D
3.3)A,C,B,D

4.D,B. A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212313172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
(Member as per Nyayva syllogism) (Statement)
A | Upanava [. | Whoever 1s man 15 a mortal just like Pyvthagoras
B. |Nigamana IL | Socrates 1s mortal
C. |Udaharana III. | Socrates 13 a man who 1s invanably a mortal
D. |Pratijna IV. | Therefore Socrates 1s mortal

Choose the correct answer from the options given below:
1. A-II. B-IV, C-1. D-III
2. A-IITL B-TIV, C-1, D-II
3. A-IIL B-1, C-IV, D-II

4. A-III, B-11, C-1V, D-1

Options :
1.1
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2.2
3.3
4.4

Question Number : 29 Question Id : 34212313172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

AT 1S 1Y &I 11 DT e Hifsy

T A 11
(<TG 91 & AR Tee) @U)
A |3uT™ L | 7 € 98 USUFIRY & 9HE A B
B. |fFmH L | goHad TR e
c. | e 1. | G U oAfad & & Fearg 30 J 91 &
D. |ufamm V. | Zofeu gaa A4t 8

A fGu U 9 edl § U Iot IR BT I999 BIIT;

1. A-II, B-IV, C-1, D-IIT

(B

3. A-III, B-1, C-1V, D-I1

4. A-III, B-I1, C-1IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212313173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-A-IIL B-1IV, C-1, D-1II

Which of the following fallacious arguments involves unproved middle term as per Nyaya logic?

1. Sound is eternal because it is produced.

f-2

3. The sky- lotus is fragrant, because it is a lotus, like the lotus of a lake.

. Fire is cold because it is a substance.

4. The hill has fire because it 1s knowable.

Options :
1.1
2.2
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3.3
4.4

Question Number : 30 Question Id : 34212313173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frafafad few abamgf gffa ¥ =g ad & SR AT A8 U id §
&3 2% ¢ 1 I8 I gidl 2|

. 31t =iidd ¢ gufay gg uard |
- HIBRIBHA YT BId1 § Hifd 98 Hid & HHA & GHH &l HHd elai gl
4. UgTS! o ¢ lfd T8 JT B

Options :
1.1
2.2
3.3
4.4

[

[

L

Question Number : 31 Question Id : 34212313174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a software that locks data files and demands a monetary payment in
exchange for unlocking?

|. Ransomware
2. Spyware
3. Logic Bomb

4. Trojan Horse

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212313174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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99 T 9 &1 98 G dIR ¢ 51l S1e1 WIgdl ol diddg $R diell @ie & ded 9 fadig YdH
&I A HdT g2

1. IR

2. WEAWR
3. il dd
4. TIoH gIY

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212313175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion is incorrectly matched?

1. MIDI- Musical Instrument Digital Interchange

t-2

. LED- Light Emitting Diode
3. MPEG- Motion Pictures Experts Group

4. PDF- Portable Document Format
Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212313175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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UfRquif § 39d [9%dR &1 (99 o 9 S 91 g guferd 8l €2
T 3% S 31 FfSihd 3ghe fSfoied $exe

TA T SI- dge Ui srrs

TA Y S off- A et tamed g

4. Ul 31 Uh. UIded STagHe Biie

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 33 Question Id : 34212313176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L) represents a number L in base- M number system. then identify the correct descending
order of the following numbers A-D when converted to decimal number system.

A. (123);
B. (1211)
C.(212)
D. (201)s

Choose the meost appropriate answer from the options given below:
1..A,C.B.D
2B DA C
32D B, CA

4.C,AD,B
Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212313176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gl YR -M AT YUl T (L), GAT L DI S=01d1 . oI SRHcd Y1 Yorel H uidikd
fhU ST U= 799 T&=A131T A- D & el HaRIgl HH DI UgdH DI

A. (123);
B. (1211);
C212)
D. (201)s

A fau U fasedl § U ¥8T 3R 1 994 DifoIu:

I.AC, B D

2. B, D,A,C
3.D,B,C, &

4.C,A,D,B

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212313177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following software titles are examples of application software only?

A. MS- Excel

B. Android

C. Adobe Photoshop
D. 10S

E. Windows- 11

Choose the most appropriate answer from the options given below:
l.A. Band C only
2.Band D only
3. Aand C only

4. A and E only

Options :
1.1
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2.2
3.3
4.4

Question Number : 34 Question Id : 34212313177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

8 1 4 $H Y UitedaR e Had ATl UiteddR & gl 3aleUl g7
A. TH UH Ud
B. U3MIS
C. TSI BicRIT
D. 318 3 TH (i0S)
E. {489 11

[GU U [ddedl § 9 g7 3R &l 99 DIl
|.hdd A. B3R C

&dd B3R D
3. dhdd AR C
4. Hadd A 3R E

Options :
1.1
2.2
3.3
4.4

=
dl

]

Question Number : 35 Question Id : 34212313178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(ICT Terms) (Meaning)
A | Printer I. | Volatile memory
B. | Scanner II. |Processzor
C. |RAM III. | Output device
D. |CPU IV, |Input device

Choose the correct answer from the options given below:
1. A-IL, B-IIIL. C-IV, D-I
2. A-IIL B-IV. C-1. D-II
3. A-L, B-1I, C-IV, D-III

4. A-II1, B-1IV, C-11, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212313178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(Gﬂéﬁém

b

A U= I | doid |
B. |%T 1. |UhTD

C. [3RuwH it | gfea

D. [Hidig IV. | 3T gfdd

Ard U U f[dahedl § 4 To1 SR BT 999 DIl

1. A-II, B-III, C-IV, D-I

2

. A-IIL B-1V, C-1, D-1II

3. A-L, B-II, C-IV, D-III

4. A-III, B-1V, C-I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212313179 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Green Muffler is used to reduce

1. Air Pollution

t-2

L8]

. Water Pollution

. Noise Pollution

4. Soil Pollution

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212313179 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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U A% &1 UG H9ieiRad & &H S & ot fdhar ST 6

—

f-2

L8]

4

AR UGHUT
EEE R T
&g Teuu
AR A

Options :

1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212313180 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which of the following has the highest Biological Oxygen Demand (BOD)

1

t2

. Potable water
. Unpolluted surface water

. Contaminated surface water

4. Municipal Sewage Effluent

Options :

1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212313180 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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fraferRad & O foud sifieda sifdd SiTadtsm | @ off 1) gidi 82
1. Ug Sd

. 3UCvd Tdgl 9d
. Uevd Udol 94
4. TR 79 & Sd A &1 dig: 1

Options :
1.1
2.2
3.3
4.4

f-2

L8]

Question Number : 38 Question Id : 34212313181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following countries were asked to reduce their green house emission by 5% below
the level of 1990 by 2012 in Kyoto protocol?

A. United States
B. India

C. Russia

D. Canada

E. China

Choose the most appropriate answer from the options given below:

l.A. Cand D only

I3

. C. D and E only
3.B. C and E only

4. B and E only
Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212313181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fgfaRad <2 § O {1 <21 &1 el 9a=R (@iel Uieldhid) H 2012 d& 304 Wi 813y
IHoiH &I 9y 1990 B TR Y 5% HeH & 070 Hgl 1 U

A. 9gad T
B. HRd

C. 39

D. B8]
E.dH

- feu e faseut # ¥ #T IR &1 99 DI
1.Hdd A, C AR D
2. $had C, D 3ARE
3.$ad B, C 3R E
4. HddB 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212313182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct sequence of Risk assessment for environment contaminants?

A. Exposure Assessment

B. Dose Response Assessment
C. Risk Assessment

D. Hazard Identification

E. Risk Characterization

Choose the most appropriate answer from the options given below:
. EyA B E C
2 DA BCE
3CED.BA

1. E.E€.8. XD

Options :
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1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212313182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qa{aRU] & UGN dedl & SlIRaH e &l Ugl SHhH I g2

A. IGUTHA 3{ihad

B. HHT 341 SHidhaH (SIe 18Ul THHHe)
C. SIRad fida

D. ¢ &l UgdH

E. SIRGH & A&

4 fou U faeedl § 9 ¥8T 3R &1 994 DI

1. DAB E,C

B

B AB,. C.E
3.C,E,D,B,A

4.E,C,B,A,D
Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212313183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are considered as air pollutants?

A. Mist
B. Soot
C. Fog

D. Smog
E. Fly ash

Choose the most appropriate answer from the options given below:

. A.Band D only
2.B.D and E only
3.C.Dand E only

4. A. B and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212313183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad 9 9 fog darg ughed 91 Siidi g2

A DI

B. ¢

C. 4y

D. 4H- DI
E. TRiTs UX

-+ fGu T fasedl § 9 &gl IR &1 994 Sifeu:
. hdd A, B3R D

2. ®Hdd B, D 3R E
3.%dd C,D3RE
4.%Hdd A, B3RE

Options :
1.1
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2.2
3.3
4.4

Question Number : 41 Question Id : 34212313184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Anglo- Indian Vidyalaya (college) was founded in Calcutta in 1816 by

1. The Christian missionaries

f-2

. The local government
3. The East India company

4. The people of Calcutta

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212313184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UEl-S (ST [eeid (i) &1 RITYAT bl ay 1816 H HRlidRdd & gRT &l 15 -
fopfag Surs) freHial gy

QY WHR GRI
4. HAGT d AN gRI

—

-2

L

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212313185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which one of the following personalities advocated western education for Indians in the early
nineteenth century?

1. Rajaram Mohan Roy
2. Lord Hardinge

3. Mahatma Gandhi

4. Rabindranath Tagore
Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212313185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAafeRad H ¥ (69 aafdd 3 3i4dl 9ol & HRH H HRA™! o Telu urre =re &1 95204
b

1. YNIRTE Higd 3™

0. TS gl
3. HIGTHT TTieit
4. Tl A1y SR

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212313186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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At the Sikh Kanya Mahvidyalava, books written by which of the following Singh Sabha stalwarts
were taught?

A. Bhai Veer Singh

B. Lala Devraj

C. Harnam Kaur

D. Bhai Mohan Singh Vaid

Choose the most appropriate answer from the options given below:

1. AB.C.D
2. Aand D only
3. Aand C only

4. B and C only

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212313186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

f¥arg -1 agTiaeray o fig gy & AgfaRad fo gultts il g1 fafad g&ds ugre
EIGIR

A HIS dR [8g
B. ddl GaxIsl
C. BT HR
D. HI3 Hig-IRig 9

-+ fGu T fasedl § 9 &gl IR &1 994 Sifeu:

1.A.B.C.D

2. Hdd A 3R D
3. Had AR C
4. Had B AR C

Options :
1.1
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2.2
3.3
4.4

Question Number : 44 Question Id : 34212313187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the chronological order of the following British Authorities /Persons who took interest in
higher education in India.

A. Lord Curzon
B. Lord Ripon

C. Lord Canning
D. Lord Dalhousis

Choose the most appropriate answer from the options given below:

1.A B CD

B

B, DA, C

3D, CB, A

4.C,D. A, B

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212313187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafarad 34 wifisRal safdaal &1 SIasa J1d &3 fSgiH YR ¥ 3= Rien o of i)

A. TTS Boid
B. dls RUA
C. I8 ST
D. dle Sclglsil

A fGu U A edl § O 8T 3R &1 904 DifoiL:

1.A,B,C,D

[

B, D,A,C

3.D,C,B,A

4.C,D.A.B

Options :

1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212313188 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
{Thinkers) (Text/ Subject)
A | Bharatmuni I | Astangasamgrah
B. |Patanjali II. | Mahabhasva
C. | Vagbhata II1. | Brahmsphutasiddhanta
D. |Brahmagupta IV. | Natyasastra

Choose the correct answer from the options given below:

1. A-IV, B-11, C-1, D-III

]

. A-IV, B-1, C-II, D-III

3. AL B-L, C-II, D-IV

4. A-IIL B-11, C-1, D-IV

Options :
1.1
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2.2
3.3
4.4

Question Number : 45 Question Id : 34212313188 Question Type : MCQ Option Shuffling : No

g28.digialm.com/CAE/viewHtmIPDFAction.action

Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e Hifsy

A fGu U 9 edl § U Iot IR BT I999 BIIT;

1

[

I II
& | avetm
A |wRagF I |3PiEue
B. |Uduife . |9e™Esg
C. |arye 111 | §ershe g
D. | SRR IV, |qTeErE

.A-1IV, B-TI, C-1, D-IIT

. A-IV, B-1, C-II, D-III

. A-III, B-1, C-II, D-IV

Options :

1.1
2.2
3.3
4.4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Id : 34212313189 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

4. A-III, B-11, C-1, D-1IV

3
342123518
No

Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Question Label : Comprehension
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Read the following passage carefully and answer the questions that follow:

Nicotine is only found in tobacco and leads to cancer. But is it true? It is a natural ingredient
found 1n several plants. Various vegetables such as eggplant, tomatoes, potatoes among others.
also contain nicotine in trace amounts.

There are more than 7000 chemicals in cigarette smoke. Of these. at least 250 are known to be
harmful to health, such as hydrogen cyvanide, carbon monoxide and ammonia. Some are natural
components of the tobacco plant itself, but most harmful substances are only formed on
combustion of tobacco and not by nicotine itself.

Products containing nicotine are often used to reduce anxiety. stress or depression. A survey in
the ‘Human Centric Approach to Tobacco Control” report highlights that stress and anxiety
motivate tobacco consumption for 62% males and 40% females in tier I cities.

Nicotine from cigarettes is absorbed into the lungs through inhalation of smoke. When nicotine
enters the body, it enters the circulatory system and reaches the brain within 20 seconds, causing
nerve stimulation resulting in feeling of euphoria.

The burden of cancer and tobacco related diseases is immense. A recent report by WHO suggests
that new cancer cases are likely to rise to at least thirty- five million in 2050, a 77% rise over the
cases diagnosed in 2022. In India. an estimated 1.4 million cancer cases were recorded in the
same year, while one in nine citizens could develop cancer in their lifetime.

Sub questions

Question Number : 46 Question Id : 34212313190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements accuracy describe the presence of nicotine in plants?

1. Nicotine is found in several plants, including some vegetables, in trace amounts

]

. Nicotine is exclusively found in tobacco and not in any other plants

L

. Nicotine is synthesized only in laboratories and not naturally found in plants

4. Nicotine is a by product of industrial processes and not naturally found

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212313191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following harmful substances are produced upon combustion of tobacco?

. Hydrogen cyanide and methane

t2

. Carbon monoxide and carbon dioxide
3. Nicotine and ammonia

4. Hydrogen cyanide, carbon monoxide and ammonia

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212313192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Therapeutic applications of Nicotine - containing products can be stated as follows:

1. They are used to increase physical strength

t2

. They are used to 1mprove cognitive function.
3. They are used to reduce anxiety, stress and depression

4. They are mostly used as antibiotics

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212313193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage of male in tier I cities who consume tobacco according to the “Human -
Centric Approach to Tobacco Control' report?

1. 62%

(]
=
=
=]
(=]
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Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212313194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What feelings does nicotine cause upon reaching the brain?

1. Sleepiness

]

. Depression
3. Hunger

4. Euphoria

Options :
1.1
2.2
3.3
4.4

Question Id : 34212313189 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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frrafifEa e &1 ayde e ok 39% a1e i3 U uat & 3w it

fepifed dad TrETd H Ul Sl § 3R U8 $OR &I A1 YRR 6Hedl g | i, 3198 9g1 87
g 3Hd Y4l H UMY S dIell U Wihidd Y9 gl &7, e, 3 3R 3 Sl fafis
gfesrt 7 ot Fdifed D1 3a=y A1 UrE S g

RFRe & 4¢ o 7000 § 1 4fed I B §1 379 ¥ TG GRS, Pled Al
Wﬁmﬁmﬁﬁww%nﬁaﬁwﬁﬁwﬁw STd €1 $9 g
JHID & UIY & UIPpidd Uch . dlid HUDIR gliHdRS Uard Wy Hdiied I g1, dfch
didId & Ged U §d ¢ | [Hdbifcd &I 3ididy & 91t IdTal &I gigdr. ¥ (d-19) AT 3adrg
T B & oI YR SUENT T ST 81 ggeH Oied U ¢ gedl e RUIE o
@ifhd fiar 1 § & a9 (W) 3R giEdr TR 1 & Ul H 62 Ufd=d goul 3R 40
yfard nigensil &l awid & Yad & U SFNRd #3d g1

RFRe &1 Fdifed YU & 3 481 4 Bl § @a2Nd gl ofdl ¢! 5d Hdifed TR
Ay gidl § of I8 URYERUl o H Ua% $dl ¢ 3R 20 Y=y & Hid gk # ugadi .
ST |1 SE1UA gidl g, ST URum Y@- |4 & ¥U & IH- dl ¢ |

$IR 3R drEH I Yeitd Sigl o1 92 3149 81 Sy, Ud. 3. &f U Adifdd Raid |
el 1 ¢ P a¥ 2022 & (HaTHT THon &1 g1 4 99 2050 T SR & U YHI0T bl G
9¢ B YAdH 35 e g4 &1 UG § Sl 77 UidRId 9ig gxidl g1 YRd | ¥ 2022 |
FER ST P 1.4 WICRA U Sl 6T Y 4, Saifey A1 ARSI H 4 TP $I 37
Sliddd O R f[dbi¥d gl gdhdi gl

Sub questions

Question Number : 46 Question Id : 34212313190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfciRad § U & A9 duF uidl | [Halfed & 3uiild &1 e ¢ Y auid &vdl 2
1. (i ifed Tfesal Ofgd 3H UIe! § 3[a=N AR H U™l Sl

2. [FADIfeH -0 U 9§ qalg H Uil Siidl g, fodl 31 aref o Hg|

3ﬁaﬁ1§qﬁﬁﬂaq¢mmﬁﬁwmaﬁmm%aﬁ?ﬁ%ﬁﬁmwﬁﬁw
IS

4. e siienfiie ufchdl &1 Uh 3U- IdIE g 3R Uidbfdd U U Ag! urd SIidi g |

Options :
1.1
2.2
3.3
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4.4

Question Number : 47 Question Id : 34212313191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= ™

[afcRad § 9 &Y giideRS U dwEidh & g4 9 Jdiiad gid g2

1. gIgSlo TEgAEs 3R Higd
2. DI A RS 3R HTa- SS3HFEES
3. [F@Ifed iR eMif=-

4. BIESIGH YEHIE S, $ld A1 313 3R 3{HIfa1

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212313192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fqenife 3fafdy S drd Il & b aig AR &f {69 U § Sl ol Tdhdl g2
1. 361 RIS fdd § gfg & fe1u IuanT {641 Siidi g |
2. 3D GIHHD DY H YR & o7t UG il S g1
3. 3901 G1EdI, TG (W) 3R 3faUIG # HHl a1 & fo1e 39T a1 offdl ¢
4. 391 Ufauifded (IC1- Sratfead) & forg it i=ra: IuanT fhar Sdi gl

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212313193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gH Af<dh T ¢ bl ddiar RUIE & 3ER fear-1 g | Tl Dl Ya- H- did
T3 T 7 Uid=Id g2

1. 62 Ufc=rd
2. 40 Ufa=Id
3. 50 Ufc=rd
4. 80 Uf=rd

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212313194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[elfed & afkiss § uiqy gi+ ok o1 Hid Hggy gld g2
L. HgTee

=GR

3.9
4. 9@- 91y

[

Options :

1.1

2.2

3.3

4.4

Law

Section Id : 342123175
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
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Sub-Section Id : 342123519
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212313195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which year “WIPO Treaty on Intellectual Property, Genetic Resources and Associated
Traditional knowledge™ has been adopted?

1.2023

2

. 2020
3.2024

4. 2022
Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212313195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

difsie Fual, AIafe JHIUF R Ygas WRNTd 9 Jdtll 3% difge Juar 9rs
(Soeq, 313, Ul. 3f1.) il &1 foh s a8l HIBR foban 1 Ut

1.2023

(]

. 2020

3.2024

4.2022
Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212313196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What does “Ratio Decidendi” generally imply?

. Reason for decision alone

t2

. Principles laid down in the case alone

L

.Both (1) and (2)

4. Observations and opinions

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212313196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HA ALY AR RRASRS S U &1 3iHd B
1. Had g &1 ddh

had 916 (UH0) H Ifcarad fgid

BT (1) 3R (2) aHl
4. fewofi R 7d

Options :
1.1
2.2
3.3
4.4

B

[FS]

Question Number : 53 Question Id : 34212313197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 61/186



8/31/24, 10:38 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

If a Muslim husband swears that he will not have sexual intercourse with wife for four months or
more, it amounts to a form of Divorce known as:-

1.T1a
2. Zihar
3. Tafweez

4. Mubarat

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212313197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afe Bl ARETH Ui ATY ofdT 8 b 98 IR HEIH a1 ST 3ifeieh Yo d 3T Iedl b 1Y
AT By (Ygar) 7! T i g [9aT8-fawse & dd ¢ | 98 fd=se o1 Sl g2

1. scl
2. fSIgR
3. dUdiel

4. HdRTd

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212313198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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As per Article 324 of the Constitution of India, any other Election Commissioner or a Regional
Commissioner shall not be removed from office except on the recommendation of the:-

|. President

(]

. Chiet Justice of India
3. Prime Minister

4. Chief Election Commissioner

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212313198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YRA & HiAYH & gada 324 b SHHR Tl =7 [Hdidd e 3udl &1 s &l
frafeiad 4 U fous! [mIiRe ¥ ue U g/l ol 9ahdl 6 2

[ ¥

L. HRd & IUfd

2. YRd &1 g1 i

3. Uy

4. q& [4aTa 31

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212313199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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M. K Ranjit Singh v. U O 1(2024) deals with which of the following issue?

1. Preservation of biodiversity and climate change

t2

. Immigrants and Refugees
3. Offence against children

4. Cyber crimes

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212313199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TH. & oild {8 998 YRd T4 (2024) U0 fFgfeiad 0 9 {69 g5 9 Ydfad g
1. Sid fafqerdT &1 URRET SR Searg giRadT
2. 3UAT 3R IR
3. |Tcieb] & Uil 3(URTY

4. TISeR WY

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212313200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which kind of Intellectual Property protection is available for trademark?

1. Statutory protection alone

t2

. Common law protection alone
3. Both Statutory and Common law protection

4. Protection under Trade and Merchandise Act, 1958
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Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212313200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UR fg & fou Fwifed & U {69 YR &1 difed Yuar &0 3uds 3:
1. Sad Tifdiere Tem

_had gAY fafe TRefor

3. Gifafte SR ArEm=T fafer dRefor &Hi

4. SR 3R el AfIFTH, 1958 & el T&0

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 57 Question Id : 34212313201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Amendment to the U.S. Constitution is important in defining the powers reserved to the
States?

. iS't

[a—

Amendment

t-2

: [Xih Amendment

) Xth Amendment

L8]

4. VI Amendment
Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212313201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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o4l & foIU SRI& Afadal &l IRUTN S O Ggdd Iog SURET & diqur &1 fafafad
o U &Y G214 Hgdyui ¢
1. ggdl g2eH
2. gl 2yE
3. Gl YaeH
4. Giddi G2meH
Options :
1.1
2.2

3.3
4.4

Question Number : 58 Question Id : 34212313202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person can be punished for an offence under Section 369 of IPC. for kidnapping or abducting
child with intent to steal from the person. For the application of S. 369 of IPC., the child must be:

1. Under the age of 12 years
2. Under the age of 15 years
3. Under the age of 10 vears

4. Under the age of 14 vears

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212313202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frdt cfdd &l fdl 2= fad U IRl & 2120 9 didd &I U0 U] U] HH & BRI
YR GU8 Tfgdl &1 YRT 360 & 3¢ <ISd (BT A Gdbdl g1 HI. §. Sigdl &I URT 369 &

YA & felu didd sifdrdd: fbd 31y &1 giH1 a1igu:
1. 12 99 Y B 3 BT dlcld

B

15 98 Y BT 1Y DI didd
3. 10 94 T HY Y T dlcld

4. 14 99 Y DH 341G S d[dD

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212313203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many independent judges compose the International Court of Justice (ICJT)?

1. 25

(]

.20

3.30

4. 15
Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212313203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 67/186



8/31/24, 10:38 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

RRAFY AT (AgdTen) H fdha o= amaniiw gid g

k.2

A

2

.20

3. 30

4.1

h

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212313204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is undefined in the International Convention on the *‘Protection of the
Rights of all Migrant Workers and Members of their Family, 1990”7

1. Migrant worker
2. Unorganised worker
3. Seasonal worker

4. Frontier worker

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212313204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafeRad @ O forgd! gRueT gt “Uarfl SHER 941 39d Hcid & el & SR
TR&0T Hefelt SRIPT SIfHaHT 1990 H IS I IS §

L. Ul HHBR

2. ST HIHITR
3. YOS HHIR
4. HiATddl HHIR

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212313205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who coined the English phrase “International Law” for the first time?

1. Plato

(]

. Cisero
3. Aritotle

4. Jeremy Bentham

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212313205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 69/186



8/31/24, 10:38 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
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1. el
R

3. 3R
4, SRHT §YH

Options :
1.1
2.2
3.3
4.4

-2

Question Number : 62 Question Id : 34212313206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct about Savigny:

1. Savigny was against Natural Law

t2

. Volksgeist theory of Savigny made it impossible for a Comparative study of law
3. Savigny did not recognize legislation as a potent source of law

4. Savigny was in favour of codification of law

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212313206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hfadil & SR | Agifed § 9 &1 W HYH Ul 721 6:
1. AfqElt Safife fafd & o o1l

GfqHll & ooy | araoizee & ffgid & BRI A T JoTdHD 8- A1 3EHd gl
|

3. T faYE &1 [9fe &1 gred (Ued) |id ol A1d 4|
4. it 1afY &1 Yigdas & S U H U

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 63 Question Id : 34212313207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

An independent director shall be eligible for reappointment on:

1. Passing OrdinaryResolution

2. Passing Special Resolution

L

. Approval of Board of Director

4. Approval of Central Government

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212313207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 71/186



8/31/24, 10:38 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

W e gAfgfad & forg g o9 ghm -
1. YR Yol UIid fbT o IR

fo2m db e uild fbu o R

9exd ded & 3HIG & 9l

4. D= WHR & AGT R

Options :
1.1
2.2
3.3
4.4

[~

L8]

Question Number : 64 Question Id : 34212313208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of an electronic record may be proved under which of the following sections of
Indian Evidence Act, 18727

l. Section 65 A

2

. Section 65 B

3. Section 66

4. Sections 61 and 53

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212313208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Wﬁmﬁ~mmm@&ﬁﬁﬁﬂﬂ, 1872 B! [HT 4RI & 24 g I =
Thdl g

1. URT 65 P

I

CHURT65 9
3. YT 66

4. YRT 61 3R 53
Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212313209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which section of Biological Diversity Act, 2002 mandates approval of National Biodiversity
Authority (NBA) before applying for any Intellectual Property Right in a foreign country.

l. Section 7

[

. Section 19

3. Section 6

4. Section 8

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212313209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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wid fafaerdr sifafaam, 2002 @1 {69 4RTH 9 o ool difgd duar sfUadR gq ideH
PR W qd Y1 w1d fafqear UeemRor (THeT) BT SigATe UItd ST fdr &

1. 4IRT7

I

CHURT 19
3. 4URT6

4. YRT 8
Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212313210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under Section 24 of Indian Contract Act, 1872, if only a part of consideration or object is
unlawtful, the contract shall be:-

1. Valid
2. Voidable
3. Void

4. Illegal

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212313210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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URATY GidaT S, 1872 DT URT 24 & feH ufdhd g1 9%d & [l sig &1 f[dfe-faeg
gi- &1 g2 H didar a1 grfly

1. Tt
2. ARSI

3. 9
4. 3fdY

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212313211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement is incorrect.

1. A child in the mother's womb is a legal person

(]

. A dead person has right to regulate his property according to his wishes when he is not
living

3. Animals are subjects of rights and duties just like human beings

4. A partnership firm is not a legal person therefore it cannot sue or be sued in its name

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212313211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fgfaRad ¥ 9 &9 9T 6y 7dd 82
1. HIaT & 1Y H 9raid [df8d Afdd g

. d Hfad DI 3O g & u4Td (Siifdd 81 T8 W) Ul S=HYUR 301 Yufi &l
faf g B3 o1 ISR |

TG DI g1 Yifd 5= T 3UPR 3R B & AT |

 UIEeRI UfayH faféie Safdd 11 €, 3/dUd Ug 30 A1 I 9 dl a1 (YD SHN) B Ihdl g
¢l 3% a9 d1e Iam™ o UHhdl |

Options :
1.1
2.2
3.3
4.4

f-2

L

+=

Question Number : 68 Question Id : 34212313212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Articles were added to the Constitution of India to facilitate the establishment of specific
Tribunals to meet the needs of Administrative Justice?

1. Article 124 A

[

. Article 233 A

3. Articles 323 Aand 323 B

4. Articles 338 A and 338 B

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212313212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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UGS U T HagDHad G 6 & fore fafay fUaon of e $34 & fau URd
& Higy o (Fgifdhd: # 4 D ¥ 3wdg s 1T 42

1. 3G 124D
CHI®E 133
MG 323F 3R 3239
4. 3G 338 D 3R 338 9

Options :
1.1
2.2
3.3
4.4

I

L

Question Number : 69 Question Id : 34212313213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the following Judgement, the Supreme Court has held that the Exception 2 to Section
375 IPC is violative of the right of girl child below 18 years?

1. Navtej Singh Johar v. Union of India
2. Prahlad v. State of Haryana
3. Armnesh Kumar v. State of Bihar

4. Independent Thought v. Union of India

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212313213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FgfeRad © U foq g ¥ Swad Arirey 5 gawdl dl ¢ i R GUs igdl di 4RI 375
&1 3UdIG-2, 18 Y Y = DI 31 Bl d1feldhl & HUBR BT Icxiad g2

1. FAddol T8 SIIgY 9411 HRd 49

2. UgTe &4 g sy
3. 3R HAR 991 fdgR T4

4. 2{SUST Yfe I YRd IU
Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212313214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which actions are covered under the offence of violation of privacy under section 66E of
Information Technology Act, 2000?

1. Non consensual capture, publication and transmission of intimate images
2. Knowingly transmission and publication of intimate images only
3. Non consensual publication of intimate images only

4. Non Consensual and consensual capture, publication and transmission of intimate images
Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212313214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YT U] SR, 2000 BT 4RI 66 (3) & S STl & Seeiad & WRIY & fFid
fRfeREgd ¥ S U $ il ¢

. To=1 Tgafd & 9=y Yd4 2IH drcil Bid &1 Biel T, 3961 UHIRMH SR YR
2. 918 Gdef gTcil BTl (BIETh) BT SHEEHR TR 3R YD1
3. had UMY Y€ BTl (BIeUTh) ST {941 GgHid & THILH

4. 9 Y Tidd 391 &1 941 Ygafd a1 GgHIdST HY # H&ER SHA1, 3951 UHRH
3R TR0
Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212313215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following refers to ““a clear and formal expression of recognition by a state through
official communication or diplomatic statement™?

1. Implicit recognition

[

. Collective recognition

s

. Explicit recognition

4. Conditional recognition

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212313215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fgferiRad & ¥ o1 e [ S9R 24Yal I-ad dadod & AT I o3 gRI1 AMdl & Ty
3R AR Afyfad I arafidd g:

L. STUHE HI-dT

2. GHfgd AT
3. UHE (J4F) HIdT

4. Fd AT
Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212313216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the following case it was held that the Preamble of the Constitution emphasises the
need to secure to all its citizens Justice, Liberty, Equality and Fraternity ?

1. Kesavanand Bharti v. State of Kerala
2. K. S. Puttaswamy v. UOI
3. National Legal Series Authority v. Union of India

4. E. P. Royappa v. State of TN

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212313216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfaRad @ U {9 are o gg fHoiy faar 7 i Siae & Seiiel ARG & fag =M,
W], YHMAT 3R S U] 1 R 9 Gal 6 |

1. DAHE YRl g1 hRd I
2. . TY. GSRGH] 9911 HRd 9
3. YT fafeieh et Uil S YR T4

4. 3 1. AW S AfTeHETg I

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212313217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Digital Signature Certificate issued by the Certifying Authority can be revoked:-

1. Depending upon the type of certificate issued

t-2

. On the request of the subscriber
3. Under no circumstances

4. On the basis of dispute between the partners of the firm

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212313217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST T 70 UHIUT U & URSY & 3R R

—

f-2

U5 gRI T o W)
Tl ufvfeufa o 39 ufddqd =31 fdar o adhdi g
4. OIS & IEGRl & 44 3dd (991G & YR TR

Options :
1.1
2.2
3.3
4.4

L8]

Question Number : 74 Question Id : 34212313218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

After declaration of financial emergency what is the maximum period of its operation without
approval of Parliament?

1. One month

2

. Two months
3. Six months

4. One year

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212313218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 82/186



8/31/24, 10:38 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

?ﬁﬂmmwaﬁ@rwmé? 3T & fo1 S dn fha- 9 I Yad- § Tgdl

1. U Hig
AR I

3. 9¢ HIg
4. 0D dy

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212313219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Section 4 of Dissolution of Muslim Marriage Act 1939, Apostasy from Islam of a
Muslim wife:-

1. Will dissolve her marriage ipso facto
2. Will not dissolve her marriage ipso facto
3. Dissolves her marriage and she loses her claim to dower

4. Dissolves her marriage and she does not lose her claim to dower

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212313219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HReH-fadTg fage fUfam, 1939 B URT 4 & TER fHdl ARETH Ud! §RT A 4H BT
TR B

1. 39 W § Wd: 5 39! fda1g faufed gI S|
2. 39 W Y Wd: g1 34! fdarg faufed el gim|
3. 341 fadre faufed gl SIIdT § 3R ST HgX &1 &Tdl YA gl SIdl g |
4. 341 fadrg faufed gl SIIdT § 3R 98 (Ut AR 1 <rdl & bl g

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212313220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Maxim “De Minimis Non Curat Lex™” relates to:

1. Affray

[

. Annoyance

P8

. Cheating

4. Slight harm

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212313220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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aﬁfﬂ%ﬂﬂmmﬁ?é@ (fafer g=s <1d! W e 71 ool €) T8 Yiad Fgifehd H# 9 foud
Hdfd g:

L. G
2. &Y

3.9d

4. gl Yfd

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212313221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Marriage of Hindu man with biological sister of his adopted sister is:

1. Void

t2

. Valid
3. Voidable

4. Illegal

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212313221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fhdl g5 &Y BT (U Gdd &g Bl Siid gl (W) o8- ° fadig g
LA
fafemr=a

3. HIHRUY
4. 3[dY

Options :
1.1
2.2
3.3
4.4

-2

Question Number : 78 Question Id : 34212313222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a feature of French Administrative legal system?

1. Dual system of courts separating administrative and ordinary courts

t-2

. Consell d' Etat as the Supreme administrative court

L8]

. Principle of Judicial Independence

4. Use of Stare decisis in administrative decisions
Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212313222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAgifed ¥ U o1 i & YRS [afs Uoliell &1 f[a2dr 381 o

—

f-2

4
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 DIf-0d 1 2¢ Udi Y= Grared ¢ |
S WA D1 fgid
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Options :

1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212313223 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a condition for determining the capacity of male Hindu to adopt?

1

t-2

. Consent of wife under certain circumstances
. Majority

. Soundness of mind

4. Must be necessarily married

Options :

1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212313223 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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for ¥l fg=g G-9 &l o UgUT &I DI S[AURUN B U 2] 6:
1. Siduy gRfR4feal o udl &1 geufd

d0%D 3
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4. 9g f[Hardd: faared gl

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 80 Question Id : 34212313224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Nuisance is the interference with the person's right related to:

l. Possession
2. Leave and License
3. Use and enjoyment of land

4. Ownership

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212313224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

f-2

L

Question Number : 81 Question Id : 34212313225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following offence is punishable in all the four stages of crime?

l. Rape

t-2

. Murder
3. Dacoity

4. Kidnapping

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212313225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212313226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following kind of IPR is regarded as community property?

1

t-2

. Industrial Designs
. Copyright

. Patents

4. Geographical Indications

Options :

1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212313226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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faifed o U foy difed Tuel SUaR & Grieitd Yuel A =il 6;
R EIKIIBEaN

3.Ud¢

4, Hiviifeie IuGxi

Options :
1.1
2.2
3.3
4.4

—

f-2

Question Number : 83 Question Id : 34212313227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gap between two consecutive Board meeting of a company should not be more than:--

1. 90 days

t-2

. 120 days
3. 150 days

4. 180 days

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212313227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fhdl ol DI & BT d1S HifdT & A [4ifhd T 9 fdhdd 90 T Hfdd &1
YHYIaRId ol gl dligu?

1. 90 f&
120 fe
3. 150 fed
4. 180 fad

Options :
1.1
2.2
3.3
4.4

I

Question Number : 84 Question Id : 34212313228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Contributory negligence is a/an:
1. Obligation
2. Crime
3. Defence

4. Right

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212313228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SIIGTH UL &:
B )
SURTY
3. AfcRan
4. SR

Options :
1.1
2.2
3.3
4.4

[

Question Number : 85 Question Id : 34212313229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What includes “deliverable state™ as per the definition of section 2 (3) of Sale of Goods Act
19307

1. State of goods in which buver is bound to take delivery

2

. Identified goods
3. Ascertained goods

4. Goods out for delivery

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212313229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TTdd fashd SAfefgT, 1930 BT URT 2 (3) I URUMNT & YR [Hifdd § O &1 -gem ang
3T 1 giEferd g

L. HId I a1 forad dodl Ueriil o4 & fau are g |
2. UgdHE &I 115 (Ffed) A

3. gHfyd ard
4. UergHl & e farforg ard

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212313230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Section 6 of the Environment (Protection) Act, 1986, which of the following
authority has power to make rules to regulate environmental pollution?

1. National Green Tribunal

]

. The Central Government
3. The State Government

4. The Pollution Control Board

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212313230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 94/186



8/31/24, 10:38 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

TAaRUT (ER&I0T) U, 1986 D URT 6 $ IR FHifhd T I fog urfgaor & a9y
T{qRuitd Ueuur &1 faf4aiid &3 & ot (478 94H &1 2fd &

L. IISTa g Hiferemror
2. Bg WHR
3. A WHR

4. YUl A0 618

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212313231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Convention on Biodiversity was signed at which International conference / Summit?

l. Paris Climate Conference

t-2

. Stockholm Conference
3. Rio Earth Summuit

4. Hague Conference

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212313231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFraffed # ¥ foy arsia Rrar gre | S fafduar dedel 2AfHama oR gEaiar foar
Yl

1. O STelarg g

2. Wihe Y YHe-
3. e 3 ARaY gHeH
4. 87 e

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212313232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which year Limited Liability Partnership Rules of Third Amendment come up?

1. 2023

t-2

. 2021
3.1930

4. 2008
Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212313232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I e1ida URieR! Fam & gdi dieE Agifed 3 9 (69 oy yada 1 o

L.

2

4.

2023

. 2021

. 1930

2008

Options :

1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212313233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the following case, the Supreme court has held that Section 309 of IPC is not
unconstitutional and is not violative of Articles 21 and 14 of the Constitution of India?

1. P. Rathinam v. Union Of India

g28.digialm.com/CAE/viewHtmIPDFAction.action

2. Aruna Ramchandra Shanbaug v. Union of India

3. M.S Dubal v. State of Maharashtra

4. Gian Kaur v. State of Punjab

Options :

1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212313233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gt d ¥ U fhd Uhul § S=add Aiad 5 Ha® 6l § fdb YR GUe igdl &1 URT 309
ARGIHTE T2l € 3R 3UY YRA & IfqUH & e 21 3R 14 BT IocvH 18] gidl ¢:

L. Gt ITH 9911 R 99

2. 3[FUN IHI= AFENT §491H HRd 99

3. UF. TH. Gael 411 HgRTY I

4. I BR I4MH Ul Iy
Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212313234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is pot a source of International Law as per Article 38 of the Statute of
International Court of Justice?

1. Judicial decisions (subject to Art 59 of Statute of ICT)
2. Writing of most highly qualified Publicists (subject to Art 59 of Statute of ICT)
3. Community customary laws

4. General principles of law recognised by civilised nations
Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212313234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IRRIPI ATTCY (3MTg T o) DI Wi b 3= 38 b AR Fgifhd H 9 o1 g

L. SR UL (215 W) DI UGl & ofd=dq 50 & 3femeli

2. YD GG A & oG bl Hiadl (315 Tl o) i AT & 3r=ig 59 & eadH
3. YcIad TR fafemt

4. Y AP R AR UTed fafe & 9y s

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212313235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following legislations in the chronological order of their enactment.

A. Maintenance and Welfare of Parents and Senior Citizens Act
B. Right of Persons with Disabilities Act

C. Protection of Womens from Domestic Violence Act
D. Forest Rights Act

Choose the correct answer from the options given below:

1. D.AC.HB

t-2

G D B A
2EDAB

4.B.C.D A
Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212313235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAafeRad fau™l &1 3 UM fHU S & 3MYR R Sldsd H AR HIfIT:

A. AT 3R aRE AFTRST BT YRUI-GIN0 G4 Hedroy e
B. 71 21ad Aidadl &1 EHR ffaf-aq

C. O] o 9 afgaraf &1 SRefor ey

D. 94 HYHR AfHTH

A fGu U A edl § O 8T 3R &1 904 DifoiL:

1. DA B

[

OB RA
3. C.DIAB

4.B,C,D,A

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212313236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps as per the law making process of UK parliament.

A. First and second reading

B. Roval Assent

C. Consideration of Amendments
D. Committee Stage

E. Report Stage

Choose the correct answer from the options given below:
1. AJE.D.C.B
D BB
3. A D ELCHB

4. D AEC.B

Options :
1.1
2.2

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 100/186



8/31/24, 10:38 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
3.3
4.4

Question Number : 92 Question Id : 34212313236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gArzecs fdhmsn o ygd faf- 0o yha & R Hgifdd @Rl & Hafed Sife:

A. TYH 3R fgdig 9/ (UsH)
B. XS DI A

C. U=IeEl IR faaR

D. GfAfd &7 =0

E. Ufdda &1 TR0l

I feu U 9wl § 9 8T IR B 99 DIIT;

L.A&E B E B

2ADCEB
LA D ECHEH

4. D, AECB
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212313237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following legislations in the chronological order of their enactment.

A. Indian Divorce Act

B. Parsi Marriage and Divorce Act

C. Dissolution of Muslim Marriage Act
D. Special Marriage Act

Choose the correct answer from the options given below:

1.B.A D, C
25, B.C D
3.C,B,D,A

4. A D B, C
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212313237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAafdRad [9u™l & 39E AETH & ATYR R Hldbd H dield HIfeu:

A. YRAY fadrg-fa=dq g

B. URH! fadrg 2iR faarg-fa=sg sifufaaH
c. gy faarg faue sifgfaam

D. {939 fgarg ey

A fau U fadedl § 9 ¥8T 3R &1 994 DifoIu:

1.B.A. D, C

2A.BCD
3.C,B,D.A

4.A,D,B,C

Options :
1.1
2.2
3.3
4.4
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Question Number : 94 Question Id : 34212313238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following reasonable restrictions provided for Freedom of Speech and Expression in
Article 19 (2) of the Constitution in their chronological order:

A. Contempt of court

B. Incitement to an offence

C. Public order

D. Security of the State

E. Friendly relations with Foreign States

Choose the correct answer from the options given below:
A EBCI
2D.ECARB
3:DABEE

4.D.C,B.E. A
Options :

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 34212313238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TG & 3g=dc 19 (2) H G IUETed a1 3R 3ifHeaiad o Wdadl ¥ Yefid gfadgad
frelerl 1 BrefchH H i Ryd ST

A. T DI GHEAT

B. R BT B & U IHYMT
C. dib i

D. I DI Y&

E. facail 9§ gl ddy

A fau U fasedl § 9 ¥8T 3R &1 994 DifoTu:

LAEB G

22D E,CAB
3.DAB,C.E

4.D,C,B,E, A
Options :

1.1

2.2

3.3

4.4

Question Number : 95 Question Id : 34212313239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following as per the procedure of Constitutional amendment in United States of
America.

A. Proposal by Congress or Convention of States

B. Governor of State submitting proposed amendment to state's legislature for consideration.
C. Ratification by State

D. Governor intimating Congress about State decision

E. Getting ratification by %5 rd states

Choose the correct answer from the options given below:

LA B:C I E

[

ABCED

3.B,C,D,E,A

4 B.C,E.DA
Options :
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1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212313239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

. 0. 3HRDTH YdUIid Ulhdl & YR WR Fgifdd i H aaflrd $Hifse:

A. DIUY 1 IT] 6l Y& 98D (H-a2H) gRT UK UK fhdl S|
B. I & TTa-R R UKTidd Y2014 &l [qurdsd (quifdd) & faarmy uidd fdar S|

C. T gRT 382
D. TR gRI 14" &l A8 & UHYY 1 g1 a1 5]

E. &I fgTs Isal gRT Sae U &1
4 fou U faeedl § 9 ¥8T 3R &1 994 DI

Lo By G B E

2A.BC.ED
3.B,C,D.E, A

4.B,C,E,D. A
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212313240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following International Treaties / Conventions in the chronological order of their
adoption.

A. Budapest Treaty on International Recognition of the Deposit of micro organism
B. Hague Agreement concerning the International Registration of Industrial Design
C. WIPO Copyright Treaty

D. Paris Convention for the Protection of Industrial Property
Choose the correct answer from the options given below:

1.A.C.B.D
2D BoAC
3B, ADC

4. D,A,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212313240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafefad siaxgta gl ifiaal i Sl H H dfRid HIfT:

A. GeA Siial & (AT DT <RI AT fou S Jefeil g31uwe Iy

B. AE® fiHHed & Wﬂ?ﬁl@w@[ﬂaﬁﬂ%ﬂmm g
C. i dfed JueI ST & UaaeeR g gy

D. e YUl & ¥R&vr gq Uiy 3{fiyay

A fau U fadedl § 9 ¥8T 3R &1 994 DifoIu:

1. A 0GB .

f2

D.B.AC
3.BLAD.C

4.D.A.B.C

Options :
1.1
2.2
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3.3
4.4

Question Number : 97 Question Id : 34212313241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following provisions in the chronological order of arrangement in the Consumer
Protection Act, 2019.

A. District Consumer Protection Council

B. Central Consumer Protection Council

C. Central Consumer Protection Authorities
D. Investigation Wing

E. Consumer Mediation cell

Choose the correct answer from the options given below:

1.B,.AC,DE

[

BB EA
3. E.C.B.AD

4.D,B,A,E,C
Options :

1.1

2.2

3.3

4.4

Question Number : 97 Question Id : 34212313241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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JUHIS TR HEHTH, 2019 H fhT T U« 1 3d 9919 DI H Hareyd Hifee:

A. ToIaT IuHIadr e gRyg

B. -4 IUHIGT T4 URuG
C. T IUMTaT Tem Afaa
D. 39U Thef (SRR fd)
E. SUHIST H0RIdl UHIE

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.B A €. D FE

[

C.B.D.EA
3.E,C.B,A.D

4. D, B,AE.C
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212313242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

Indicate the correct sequence of the following sources of Muslim Law:

A. The Quran
B. The Ijmaa
C. The Hadis
D. The Kivas

Choose the correct answer from the options given below:
1.A,B,.C.D
2.8 B D
3.D.C.B.A

4 A DCB
Options :
1.1
2.2
3.3
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4.4

Question Number : 98 Question Id : 34212313242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

it fafa & Fgfaiad gial &1 981 30 o gdfyd Sifeu:

A. XA
B. 3o
C. o™
D. HIl

A fGu U A edl § O 8T 3R &1 904 DifoiL:

1.A,B,C,D

[

A C.BD
32D, C,B; A

4. A,D,C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212313243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following General Exceptions in the Indian Penal Code in the chronological order of
their appearance in IPC.

A. Act done in good faith for the benefit of child by the consent of guardian
B. Act done in good faith for the benefit of person without consent

C. Communication made in good faith

D. Act to which a person is compelled by threats

Choose the correct answer from the options given below:
LA B C D
2. C. D, B A
3.3A.B.D.C

4.C,D, A, B

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212313243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR U3 Wfgdl & fgifdd QR suare] &l 3961 3cad [hU ofH & YR IR
BIAPHHMIR HIRIT DIfoIT:

A. YIS $ YgHld U didd & fgdid Tgraydsd fbdl T o

B. fa-1 gaid & fadl safct & Rard Sgraaqds foar mar o

C. Tgld ¥ faodn a1 SR (Huyo)

D. 98 & o/ HIRd P & AU Afdd DI 4HD| b a1 fhar 11 gl

A fSu U fasmedl § 9 ¥8T 3R &1 994 DI

1.A,B.C.D

2.6€.D.B.A
LAB DC

4. C,D.A.B
Options :
1.1
2.2
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3.3
4.4

Question Number : 100 Question Id : 34212313244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following cases in the chronologically order of their year of verdict.

A. Vineet Narain v. Union of India

B. Kesavanada Bharti v. State of Kerala
C. Minerva Mills Ltd v. Union of India
D. D. K. Basu v. State of West Bengal

Choose the cerrect answer from the options given below:
1.A,B,.C.D
2.B.C,A.D
3.D.AB.C

4.B.C.D A
Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212313244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fgferRad ymeul @rgh &1 31 i (b« fu 91 & 99 & 3R R Slashd #
AR HIfSIT:

A, T91Id AR™@U 919 YRd 99
B. MG Rl g1 d3d 3oy

c. TRar fireg fefird s 9919 YRd 99
D. 1. &. 91 91 Ui &7 I

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.AB.C.D

2.B,C,A,D
3. IA B, C

4.B,C,D A
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212313245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

Arrange the following International Humanitarian Law Treaties and Conventions in the
chronological order of their adoption.

A. Chemical Weapons Convention

B. Arms Trade Treaty

C. International Convention for the Protection of the All Persons from Enforced Disappearance
D. Geneva Convention

E. Treaty on the Prohibition of Nuclear Weapons

Choose the correct answer from the options given below:
1.B.C DA E
2B CE A
3.A,E,D,C.B

4.D,A,C,B,E

Options :
1.1
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2.2
3.3
4.4

Question Number : 101 Question Id : 34212313245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frofaiad sfaia Aradard faf Sfetrt siR il & 3% offied fHu oF & ouR
R BIcshH § HAUd BT

A YA BOR fUaHy

B. I ATIR HiY

c. gl Afdaal & TR0 Uay Uad oig ga ofiaayg
D. SiHaT AHYTHY

E. TRAM] SR & ufave et iy

A feu T faswedl § 9§ a1 IR B 99 DIIT:

1.B,C,D.AE

22D B G E A
3.40E,D.C. B

4. D8 C.B.E
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212313246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange in chronological order the following Fundamental Duties as appearing in the
Constitution of India.

A. To Safeguard public property and to abjure violence

B. To value and preserve the rich heritage of our composite culture
C. To develop the scientific temper

D. To defend the country and render national service

Choose the correct answer from the options given below:

1.D.A.B.C
2.A,C,D,B
3iD,C,BA

4.D,B,C,A

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212313246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HRd & Afay | Fafiad Aifcid ddadl &1 3o (6T S & TR IR HIasmH H
AGRYT HIfTE?

A. TIdSd Huftl BT GIam 1 3R a1 b1 uRgR

B. AR GRS ¥ id &1 90 a9 & Ggd 1 3R 9D URE0
C. IS TG BRI BT

D. G 1 & DT R AP Y ST

A fSu U fasmedl § 9 ¥8T 3R &1 994 DI

1.D.A.B.C

2.A,C.D,B

3.D.C,B,A

4.D.B.C.A
Options :
1.1
2.2
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3.3
4.4

Question Number : 103 Question Id : 34212313247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in chronological order (section wise) as stated in Motor Vehicles Act,
1988,

A Procedure and Power of Claim Tribunal
B. Award of Claim Tribunal

C. Claim Tribunals

D. Application for compensation

Choose the correct answer from the options given below:

1.AB.C.D

[

8 C B D

36D, B, A

4.C,B,A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212313247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Alex dre AFTH, 1988 H gUifeddRad MgiiRad 2agal &l diasH H (YRI-GR) Haid
GASL

A. GTAT 3SR i BRI 3R 2fed
B. QA1 3HHI0] & Udle

C. GIdT IR

D. Ufd& & Te10 31dga

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.AB.C.D

[

A C. B, D
3D, B A

4.C,B.A,D
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212313248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Conventions in the chronological order of their adoption.

A. Vienna Convention on the Protection of Ozone Layer

B. Stockholm Convention on Persistent Organic Pollutants

C. Convention on International Trade in Endangered Species of Wild Fauna and Flora (CITCS)

D. The Basel Convention on the Control of Transborder Movements of Hazardous Waste and
their Disposal

Choose the correct answer from the options given below:

1.AC,B,D

]

DA DB
324,B,.C,D

4.D,B,A,C

Options :
1.1
2.2
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3.3
4.4

Question Number : 104 Question Id : 34212313248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i d fHTHal &1 35 SR [HU S & YR R SHIdsH § Aaied Hifeig?

A. SIS G & ER&T Haelt fag-r ity

B. G0 Slidd (Pai-d) Ugyul ¢ Tidhgy iany

C. T4 Siid 3R UIey bl Yo eTus Uofifad! I Heiferd 3aRrsia AR fHgay

D. URYHEHT Udd & YN UR e 3R 39 IR0 o A0 el 99 iy

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1.8 B D

2008, BB
3AB,ED

4.D,B. A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212313249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Transfer of property between buyer and seller is explained in chapter III of Sale of Goods Act,

1930.
Arrange the following provisions in the sequence of their appearance in the Act.

A. Property in goods passes when they are ascertained

B. Property in goods passes when the buyer and seller intend it to pass

C. In case of specitfied goods in deliverable state, property in goods passes when contract is
made

D. Risk prima facie passes with property

Choose the correct answer from the options given below:
Loty B, )
2.48CBD
3D.B.C.A

4.B,A,C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212313249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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thdl 3R fdchdl & A& YU o 20 &1 HARSAT AT fdhd HETH, 1930 H HITTS B
faifed &I sifafam 4 39d gilfed f6u S & 3-ha § Fdf@yd DI

A. {1l & Yufl gifd g4 &1 g=n # eidld &l i g

B.%ag@ﬁmmﬁamﬁﬁaﬁaﬁﬂ%ﬁwwmaﬁwwm
4

C. UeTaih arelt gyl § fafféy Aard gi- & g | Yulty dfdel s99d of 3fdRd gl Siidi g

D. UUH eV SiRGH YU & 91y 3fdRd gidl ol

A fau U fasedl # 9 ¥8T 3R &1 994 Dol

1.A,B,C.D

2.A,C,B,D
3.D,;B, €, A

4.B,A,C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212313250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of following cases are related to personal bias according to the Principle of Natural
Justice.

A. A. K. Kraipak v. Union of India

B. Jacob Mathew v. State of Punjab

C. Mohd Yunus Khan v. State of U.P

D. Gullapalli Nageswara Rao v. State of A.P
E. Manak Lal v. Prem Chand Singhvi

Choose the correct answer from the options given below:

1.A. B, C,Donly
2. A, C,E only
3.B.C.Donly

4. B, D only
Options :
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1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212313250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafeiad § 9 o4 9 d1e 9itie ar Rgid & HuR 9gidid sfiy-fa 9 gdfad g2

A. U & PHI3UP 11 HRA 99

B. Sidhd T2 &1 T I

C. HIgHS g4Y W S 3t U I
D. ety AR YR 9 S91H 3¢ o=l A
E. HFo dld 9414 UHde [Rigdt

- feu MU g edt # § Fg IR &1 I9- BT
1.Pdd A, B, C.D
2. Hadd A, C.E
3.HddB.C.D
4. $dd B.D

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212313251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following statements are correct as per International Court of justice (ICT)?

A. The judgement is final and without appeal

B. No application for revision may be made at all

C. The Court shall deliver it's advisory opinion in open court
D. The members of ICT are elected for 10 years

Choose the correct answer from the options given below:

1. C and D only
2. B and D only
3. Aand B only

4. A and C only
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212313251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ARRIPTI AT (g dloh) & AHFER gifhd H ¥ DI ¥ U+ Hgl 8-

A. Foig sifan gia1 8 iR 38 fae < g idid gt &l &1 ¥ahdi g

B. UAI&0T Geiefl ATy fded o 81 WEdd &1 ol Yl g

C. Ted Gel ArTerd | 391 YelgbRl B A |

D. A~RIPI I & G 10 Y & DrdebIel & ferg fafferd fdhy oird 8|

- feu U fasett # ¥ F81 IR &1 99 DI
1.%dd C 3R D
2. ®dd B AR D
3. HddARB
4. HadA AR C

Options :
1.1
2.2
3.3
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4.4

Question Number : 108 Question Id : 34212313252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct in case of Vicarious Liability.

A. Relationship of Master Servant

B. No control of master over the manner of doing work
C. Tort committed in course of employment

D. Control of master on the manner of doing work

Choose the correct answer from the options given below:
1. A, B, Conly
2.B.C,Donly
3.A.C.Donly

4. A.B.D only
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212313252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ui giid & gxn ¥ [Hwifhd o § o d $u- 9gl T

A. Wl 9ddh Gdy

B. H1 wred &l Afd R @il &1 $1g g0 481 g
c. [HasH & 0 d SIkd ugpd

D. &1 e B {ifcd IR Tifcrd o1 FHaFom

- feu U fasett # ¥ F1 IR &1 99 DI
1.BdA A, B, C

HddB.C.D

3.®dd A, C,D

4. HAd A, B, D

t-2

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 122/186



8/31/24, 10:38 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212313253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the important circumstances Parliament can legislate with respect to matters in the
state list?

A. To make laws with respect to Goods and Services Tax imposed by such state
B. In matters of National Interest

C. If a proclamation of Emergency is in operation

D. By consent of states

E. For Giving effect to International Agreements

Choose the correct answer from the options given below:
1. A B, Conly
2.B.C,Donly
3.A.C.D.E only

4.B,C,D.E only
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212313253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Wﬁﬁ%@%ﬁﬁ%m@ﬁmﬁ%ﬁ@wﬁmwm

A. U ST gRI ARIUT AT 3R 9dl a3 Ga¢ | G- f=aior
B. APfed & AMd |

C. e AMYTIHI D Y0l Ydad | gl

D. 4l I YgHd I

E. 3P BRI (HASA) B Ugdd B & ferw

d feu MU 9 el o 9 F8T SR &1 98- BHifIT:
1.Had A, B, C
2. $dd B, C, D
3.%dd A, C,D.E
4. $HddB.C.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212313254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct according to National Green Tribunal Act, 2010.

A. It repealed National Environment Tribunal Act, 1995

B. It repealed National Environment Appellate Authorities Act, 1997

C. The Act does mention about judicial pronouncements construing right to healthy
environment as a part of right to life under Art. 21 of the Constitution

D. The Act does not define environment

Choose the correct answer from the options given below:
1. B, C and D only
2. A.Band D only
3. A.Band C only

4. A. Cand D only

Options :
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1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212313254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 gRA AU 3ETgH, 2010 & IR FHifdd d W S I Sy F81 82

A, SOU UV UGiaoy AR AHfEHTH, 1995 P ARG 81 T4

B. SO PTG UiaR0l Sidield UieRur G, 1997 &1 FRIEH 81 @)

c. 39 3iftfan # yrdlg 9fays & siwe 21 & Sdiid s & HfUeR & i & =g
W Ui & AfYHR & AR Y A1faE Aol &1 [afRyd: Ieeika fdar |

D. 39 STy § gaiaor & gy =gl & 7S g

- feu U fasett # ¥ FT IR 1 99 DI
1. $dd B, C 3R D
2. Hdd A, B 3R D
3. ®dd A, B AR C
4. HAd A, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212313255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following Judgments are associated with the Legislative Supremacy of Parliament
in UK.

A. Jackson v. Attorney General (2005)

B. R v. Secretary of State for Transport (Factor fame) (1991)

C. R v. Secretary of State for the Home Department ex p. Leech (1994)
D. O' Reilly v. Mackman (1983)

E. Ridge v. Baldwin (1964)

Choose the correct answer from the options given below:

1. A, B.C,Donly
2. A . B,Conly
3.A,B,D,E only

4. A, B,C,E only

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212313255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgifrd o ¥ & U o g s fbsa 1 faurfie & qafdl 4 Jgaiford g2

A. SIF 9919 TeHT SHRd (2005)

B. 3R §H Ushedl 3 e B SUIE [haex HH] (1991)

C. 3R §M Yshedl 3T We B & g gUIcHe Tawul offe (1994)
D. IRl 91 HBHA (1983)

E. S 9919 dIesfad (1964)

- feu T fadett # 9 @l IR &1 997 DI
1.$Hdd A, B, C, D
2. HIAA, B, C
3. $Aad A, B, D,E
4. HIA A, B, C.E

Options :
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1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212313256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Muta marriage is:-

A. A temporary marriage

B. Recognised under Shia Law

C. Recognised under Sunni Law

D. A marriage for a fixed period: a day, month, vear
E. One in which dower need not be specified

Choose the correct answer from the options given below:

1. A. B, D only

b2

.A.B. E only
3.A.C,D only

4. A,C,D, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212313256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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dT fqare 8

A, 3yl faarg

B. T fal¥ & 3fdvid Ar=gdr urd

C. el fafer & sl oy

. {4l Fgd guaiaie vs fad, Are, 94 d& o foru f9dig |
E. dg fadrg forad #er &1 faFiey fdan ST siia<as g1 B

- feu U faded! ¥ FpT IR B 90 HIST:
1. &dd A, B, D
2. HIA A, B, E
3.$HddA. C.D
4. $Ad A, C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212313257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following judicial decisions are related to Environment Impact Assessment and
Environmental Clearance?

A. Sterile Industries (India) Ltd v. Union of India
B. Balram Singh v. U. O. 1

C. Deepak Kumal v. State of Haryana and ors.
D. Orissa Mining Corporation Ltd. v. MOEF

Choose the correct answer from the options given below:
l1.A. Cand D only
2. A, B, D only
3.A.Band C only

4. B. C and D only

Options :
1.1
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2.2
3.3
4.4

Question Number : 113 Question Id : 34212313257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W%%ﬁﬁdmﬁwﬁlm T TaiaRofig UHIg Hedic 3R qaiaRuiy Wisid 9
Heiferd 8

A. XS SIS (23 e s 941 URd 9

B. IeR1H g §911 YRd 99

C. AU HHR §-TH gRATN I Ud 3

D. 35191 G- (7 s S99 Ugiarvl 3R g JArey

il

1d feu T f[ddh et § ¥ F8T 3R &1 994 DIfSIu:
1. hdd A, C 3R D

. $Hdd A, B.D

3.A,B. 3R C

4.B,C3RD

Options :
1.1
2.2
3.3
4.4

]

Question Number : 114 Question Id : 34212313258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following terms are defined under the Information Technology Act, 2000?

A. Computer Network
B. Information

C. Data

D. Secure System

E. Online

Choose the correct answer from the options given below:

1. A, D, E only
2.A,B,C,Donly
3. Aand D only

4. A C.,DE only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212313258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y- Uit ST, 2000 & 31efiH fAgfaRad # ¥ fb yal &t ufvursn < &

A. SR Hedd

B. g4I
C. ad (sI<l)

D. GRi&d ol (R feen)
E. 3Al-IcleA

d feu T f[ddhet] § ¥ F8T 3R &1 98- DIfSIT:
1. HAd A, D, E
2. Hdd A, B.C,D
3. A3RD

4. A,C,D,E

Options :
1.1
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2.2
3.3
4.4

Question Number : 115 Question Id : 34212313259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following led setting aside of practice of Triple Talaq as evident in the case of
Shayara Bano v. UOI (2017) SCC 1

A. Muslim Personal Law (Shariat) Application Act, 1937 is not a Law regarding Triple Talaq
and the practice is against the tenets of Holy Quran

B. Section 2 of Shariat Application Act, 1937 is pre-constitutional legislation within the
meaning of Art 13 (1) of Constitution and violative of Art. 14

C. Section 2 of Shariat Application Act, 1937 is pre constitutional legislation within meaning
of Art 13 (1) of Constitution and violative of Art. 15 of Constitution of India

D. Triple Talaq can be injuncted by Supreme Court to severe matrimonial relationship

Choose the correct answer from the options given below:

1. B, Aonly
2. A, Conly
3.B.Donly

4. C,D only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212313259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Fifed O ¥ {dad URUMRG=T JMERT §H1 &40 YR 99 (2017) Y601 § feUd daid ol
U1 Bl HIW fbar T

A. iGTw gy fafey (ki) syt sifefaae 1937 fafe =gt ¢ o feud dare smféd
gl 3R g8 Uy ¥1fie Uy v & Rigidl & [dF < o

B. TR SHUANT SAUFTH, 1937 B 4RI-2 GiAeH & =96 13(1) & AU & HIdR
YAy [du ¥ ugd &1 g 3R 399 3fa8e 14 DI Scad- gidl g

C. IR UG HAHTH 1937 DI URT-2 AUH & Swde 13(1) b U™ & HieR
Yfdem Y ugd &l faeH g SR 39y YR Uide™ & =96 15 ®I Jcae gidl g |

D. daligd Ya¥ Pl fd=sfed B & (U I=ad e feud qald B - R0 B
ghdI gl

i flqu U {9 eyl O 9§ ggT IR &l 999 ST

1. hddB. A

2. Hdd A, C

3. ®dd B. D

4. $HddC. D
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212313260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following statement is incorrect regarding Asylum?

A. Article 14 of UDHR grants a right to asylum from persecution

B. Asylum also includes transfer of person wanted by an arrest warrant to the prosecution
country

C. Granting of Asylam per se excludes any possibility of extradition
D. Extradition and Asylum are mutually exclusive

Choose the correct answer from the options given below:

1. A. Band C only
2. Aand D only
3.B. C and D only

4. A. Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212313260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IRURA & dR H FEfeiiad # U &F U HUH Ted g2

A.ﬂﬁﬂﬁ%ﬁéﬁ@ﬁﬁ%@ﬂ%%&ﬂ%ﬁmﬁmﬁﬁ Gddl DI YT BT A THR

fearmanr gl

B. YR H JgHA ®- dld ¢ R TR aRe & 2M14R R YdISd ¢ &l Hfad &l
GEIICRUT (RITHIARUN) ST YT A B

C. 3143 [T S U gaid: UdUul B his YHEHT 78] X8l ¢ |

D. UAUYT 3R 1Y =AU Y IRER 34 g

A fGu U fasedl § 9 F8T 3R &1 994 DHIoIU:
|.Hadd A, B3R C

2. &dd A 3R D
3. HAdd B, C 3R D
4. Hdd A, € IR D

Options :
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1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212313261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Independent Director may be paid remuneration by way of :-

A. Sitting fees

B. Stock option

C. Profit related commission approved by board members
D. Share in fixed asset of company

Choose the correct answer from the options given below:
1. A, Conly
2.B.D only
3. C, D only

4. A, B only
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212313261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Wda Fems & Fgiied # O {69 Aregd I UiRYHS & Ygd! &1 ol 9l o
A. 43® Yeb
B. &WId f[ddhcd (KT 3{RM)
. dls & Yol gRI HIfGd gRaisHr 4 ddfed ool
D. HO-1 &f (Aad gRYg J 23R

1 feu e fasedl # 4 F81 IR &1 99 DI
1.HIA A, C
2. $HddB. D
3.%dd C.D
4. Had A B

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212313262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following i1s NOT part of ‘International Bill of Rights’?

A. Magna Carta. 1215

B. Universal Declaration of Human Rights, 1948

C. International Convenent on Civil and Political Rights, 1966
D. Convention on Rights of the Child, 1989

Choose the cerrect answer from the options given below:

1. Aand B only
2. Aand C only
3.B and C only

4. A, and D only
Options :
1.1
2.2
3.3
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4.4

Question Number : 118 Question Id : 34212313262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fatfed # I or aRI UHR T & 32 78] ©:

A, HYTIPIEL, 1215

B. AHANYSHRI & TraHIHS =Y, 1948

c. fafae SR THifde IR et aRAP IHIHT, 1966
D. dTd UDR el SfHTHg, 1989

i feu T fadetl 7 9 FT SR D1 99 BIfT:
1. ®dd A 3R B
2. Had AR C
3. PIAB R C
4. Had A 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212313263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Inland Instrument means:-

A Instrument drawn or made in India

B. Instrument made pavable in India

C. Instrument drawn upon any person resident in India
D. Instrument that is passed by Indian Parliament

Choose the cerrect answer from the options given below:
1. A, B, Conly
2.B,C,Donly
3.A.C.Donly

4. B, A, Donly
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Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212313263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=TGRy forad &1 My B

A. HIRT H 318id 3ryar (A foad

B. HRd H gy & feau fAfHd forad

C. HRd | 919 &3 ardl {4t =afad gR1 2mgid feraa
D. YRd P g gRI 1ikd fead

d fau 710 f[ddetdl § § F8T 3R &1 98- DIfSIT:
1.hdd A, B, C
2. $hdd B, C.D
3. hdd A, C.D
4. $AdB. A, D

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212313264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are offences against public tranquility as per Indian Penal Code, 18607

A. Counterfeiting coin
B. Unlawful Assembly
C. Sedition

D. Rioting

E. Affray

Choose the correct answer from the options given below:

1.B, C, D only
2. A.B,D only
3.B.D.E only

4. A, C.Eonly

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212313264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR g8 Hfgdl 1860 H FHifdod # I T SH-U=IIfd & faeg Ry &1 407 H 31 &

A. Behd [Hadl

B. f[df¥fd=g TUrH (YHddH)
C.3Slglg

D. G HAl

E. G111 (311h)

Hid fau U fadheul § 9 F87 IR &l 99 BT
1.$dd B, C.D
2. hdd A, B,D
3. hdd B.D.E
4. hdd A, C,E

Options :
1.1
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2.2
3.3
4.4

Question Number : 121 Question Id : 34212313265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Section 20 of the Green Tribunal Act, 2010 what are the principles that should be
applied by the NGT while passing orders and decisions?

A. Principle of sustainable development
B. Precautionary principle

C. Polluter pays principle

D. Principle of absolute liability

Choose the correct answer from the options given below:

l1.A. BandD only
2. B, C and D only
3. A.Band C only

4. A, Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212313265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 139/186



8/31/24, 10:38 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

g ST ST, 2010 BT YRT 20 & AHTUR G UIRA Hd GHY 3R faf14g HH
& @ H U1 R sifdeu of Fgifed H ¥ & Ry<ial &1 ure & =ik

A. YR fde & Rrgid

B. Ugfarrd! (qafayr) gl
C. UgUU &I Hard H-, Jefeft i
D. Ui g1 f¥gid

- feu U fasett # ¥ FT IR 1 99 DI
1.Hdd A, B AR D
2. $had B, C 3R D
3. HIA A, B3R C
4. HAd A, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212313266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Constitution of India confers original and exclusive jurisdiction on the Supreme Court in cases
where there is a dispute:

A. Between two or more states

B. Dispute arising out any treaty entered into or executed before the commencement of the
Constitution

C. Between Union Govt and one or more states

D. Between Union Govt and any states on one side and one or more states on the other

E. Dispute arising out of substantial question of law of general importance

Choose the correct answer from the options given below:

1. A, B, Conly

t2

.C,D. E only
3.B,C,D,E only

4. A, C,Donly
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212313266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR Tigerd | T ol 98 (@re) H I=aad /el &l 9d 3R 3 SHHRdal & s
A QTG Y 3HiYE Il & 7 gl
B. TiqUM & URY B4 4 gd 1 718 314q1 Srif-ad il 9ie ¥ 34 faare gl
C. 49 WHR AR UD 1 U Y H4H Il b A gl
D. U9 PR 3R UH UHHR & =9 H Y4 IRBR AR g Aod 9U1 UH 91 UH Y 3(UFH
Y SR U&HR T
E. 9= Ugd $l fafe & Agayul Uy 9 3@ 8l

i feu T 9l 7 9 FT SR D1 997 BIST:
I.5dd A, B, C
2. $dd C, D, E
3.%ddB,C.D.E
4. ®Hdd A, C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212313267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is correct as per the Motor Vehicles Act, 19887

A. Section 140 of the Motor Vehicles Act, 1988 deals with the principle of No Fault Liability

B. United Indian Insurance Ltd v. Karamchand (2011) deals with third parties

C. Doctrine of pay and recover is covered under Section 149 of the Motor Vehicles Act, 1988

D. As per Section 173 of Motor Vehicles Act. 1988, an appeal to High Court from the award of
Motor Accident Claim Tribunal to be preferred within 60 days from the date of the award.

Choose the correct answer from the options given below:

I.A. Cand D only
2. A.Band C only
3.B. C and D only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212313267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hiex dig HUFaH, 1988 & HAUR Hgifhd O 9 o4 d $y- Ugl ¢:
A. lﬂE?EﬂgHS@ﬁﬂﬂ 1988 DI 4RI 140 Ffe AR (PIs AldH g aIfdid RygUid ¥
B. Y1238 53Ul Sx0RY &yl 3. §911 Srads (2011) Jdid U&HRI 9 Geidd g1
C. YT 3R 9Yd DRI R gier digd ATy, 1088 DI 4RT 149 & i GiHfed g

D. HIcR dg fUFIH 1988 B 4RI 173 P IR Hiex el aral HUH0 & gdre
(3ATS) & (365 I A™IET H 3d1s & 60 T & HiaR 3fdid &1 ST bl g |

-4 feu U fasett # 9 @81 SR &1 989 ST
1.®dd A, C 3R D
2. Hdd A, B3R C
3. $HddB, C 3R D
4. Hdd A, B3RD

Options :
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1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212313268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are functions of Controller of Certifving Authorities under the
Information Technology Act, 2000?

A. Exercising supervision over the activities of the Certifying Authorities

B. Certifving public keys of the Certifying Authorities

C. Laying down standards to be maintained by Certifying Authorities

D. Summeon and enforcing attendance of any subscriber and examining him on oath
E. Facilitation of the establishment of any electronic system by a certifying authority

Choose the correct answer from the options given below:

1.B,C, D, E only
2. A.B,Conly
3.A.B.C,Donly

4. A, B, C,E only
Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212313268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YT U SR, 2000 & 3= THI0E UESHRT & s & S §:

A. THITOT &R dTel UTTHRUI & DHridhad ol Tdeul

B. YA ®3 dTc] UEHR0T & IRDR] T8I GEidall Dl YHIOI DHAT

C. YHTUH UHRT & e AFd [HyiRa/fdigd Hm

D. [l ol TsahIgeR (Ui &I §AMT, 3TDT UM Uad HAT AR Y0y e
RECARICRE

E. 4l yaoE wiide Rl gR fddl gdacive ey $f R fhu SH of 3191 §- ]

A fau U fasedl § 9 ¥8T 3R &1 994 DifoTu:
1. $ddB.C.D.E

2. HAd A, B. C
3. BAd A, B, C.D
4. Bdd A, B.C.E

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212313269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the Common Law maxims concerning the Double Jeopardy.

. Nemo bis punitur pro eodem delicto

. Ex turpi Causa non oritur actio

. Nemo bis vexari debet pro eadem causa
. Novus actus interveniens

. Nemo debet bis puniri pro uno delicto

Mg me

Choose the correct answer from the options given below:

1.B, C,Donly
2. A,C,E only
3.B.D. E only

4. A, B, C, D only

Options :
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1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212313269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

aIg’T URYd ¢ (S1RH) I Yeferd gar= fafY-gfii o fagied S

A. =91 faY gfHeR U1 varen Scdel

B. UG XUl &Il A1 3{iiReR ufaeal

C. d/9Y UdeY SevdNuy

D. Hedd] 449 B

E. U R & 00 & IR GUS gl (Gl off 9dhdl g |

- feu MU g edt # § Fg IR &1 I9- BT
1.$d B, C.D
2. Hadd A, C.E
3. HddB.D.E
4. HdA A, B.C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212313270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
Country Procedure and Authority to Amend the Constitution|
A | United States of America| I | Sections 38-49
B. |India II. |Section 128 of the Constitution
C. |Australia III. | Article 368 of the Constitution
D |Canada IV | Article 5 of the Constitution

Choose the correct answer from the options given below:

1. A-IV, B-III, C-1, D-II
2. A-II, B-IIIL, C-IV, D-1
3. A-IV, B-III, C-II, D-1

4. A-1, B-III, C-1V, D-I1

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212313270 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

;gig’; BERIGHIES irIaE-raimﬁw
Tgad Iod SEREl| 1 | SEyE &t aRT 3849
R IL | Efger &1 4RI 128
e 1. | AT &1 3Fw56 368

GTIE| IV, | A @1 =g 5
A fSu U fasedl § O 9gt 3 &1 994 DIfoIU:

1. A-IV, B-11I, C-I, D-II

ola|w|e

b2

. A-II, B-III, C-IV, D-I
3. A-IV, B-III, C-1I, D-1

4. A-1, B-11I, C-1V, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212313271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
Jurist Theory
A |Roscoe Pound 1. | Life of the Law has not been logic it has been experience
B. L e el I[I. |Law is uncertain and certainty of law is a legal myvth
Holmes
. End of Law should be to satisfy a maximum of wants with minimum of
C. |Ihering L |-
3 friction
D. |Jerome Frank IV. | Law is part of human conduct and in the idea of purpose

Choose the correct answer from the options given below:

1. A-III, B-1, C-IV, D-II
2. A-II, B-1, C-IV, D-IIT
3. Al B-11, C-I, D-IV

4. A-I, B-1II, C-1IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212313271 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

A |I@ius I |faf% o1 offaq aeb 761 381 8, U8 4 8l o

B. |ifcar dsa eie| 11 |fafY affad ©. 3R 5y &1 Fidaa fdfve Ay 81

c. |zafm 111 | fafY @1 358 gHdH Tawra 4 Hfday Hawdddl 4id gH1 9ifeu|

D. |oRM e 1v. | fafd aFdi HT=w0 & 3fE & SR W & R o) 8 FEs B
i feu U fas et § 9 I8! SR &1 994 DifIT:

1. A-III, B-1, C-IV, D-II
2. AL B-1, C-1V, D-IIT
3. A-III, B-11, C-1, D-IV

4. A-II, B-11I, C-1V, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212313272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII

Titles of Books Authors
A |Public International Law in Nutshell [. |].L Taulbee and GV Glahn
B. Law among Nations: An Introduction to Public it it s

International Law
C. |Prnciples of Public International Law L Thomas_ Bl st i scon I
Murphsy

D. | Text Book on International Law IV. |Ian Brownlie

Choose the correct answer from the options given below:
1. A-IV. B-II, C-II1, D-I
2. A-IITL B-1, C-IV, D-II
3. A1l B-1, C-III, D-IV

4. A-1, B-III, C-II, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212313272 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

150/186



8/31/24, 10:38 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

AT 1S 1Y &I 11 DT e Hifoy

= =
TP BT AH
A | Ul Se-gA Al 59 3 9e8d L |9 o eledl g ol &l o
B |l 3T 33 U SeieaRH € ufeqd seeaeHa ar| 1 |mife fawm
c. |fifuey e ufedd Sex-eHe @l 1L | 459 uigd U faue St 9!
D. |CHReg® 3 ge-THd dl IV. | 3 si-a
i feu U fae el § 9 T8t SR &1 994 DifIT:

1. A-IV, B-11, C-1III, D-I

2. A-III, B-1, C-1V, D-II

3. A-IL B-I, C-IIL, D-IV

4. A-1, B-11I, C-1I, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212313273 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI

Judicial Decisions

LISTII
Fundamental Rights

A | 5ri Srinivasa Theatre v. Govtof T. N I. | Article 20(3) of the Constitution
B. |K. A Abbas v. Union of India II. |Right to Environment

C. | Selviv. State of Karnataka III. | Equality before Law

D |Rural Litigation and Entitlement Kendra v State of UP | TV | Censorship

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-IIT, B-IV, C-1, D-IT
3. A-1L B-1, C-IV, D-IIT

4. A-IV, B-II, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212313273 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

Eﬁ; n*rﬁgﬁaf%w
A |4 Hiarg ue g9 diETHg TR L |&f@eE &1 3=96 20 (3)
B |&. U HeEM &9 YRd 99 11 |ugiaeu &1 HfEER
C. |Ocd 9 SHlcm ad 11 | fafe o5 g9 gaHEar
D. |70 GHeHT 3R §HR] dg s SR We Ied | v, | Fiar @wRfEm)
i feu U fae el § 9 T8t SR &1 994 DifIT:

1. A-1, B-II, C-III, D-IV
2. A-III, B-1V, C-1, D-II
3. AL B-1, C1V, D-TIT

4. A-1V, B-11, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212313274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 153/186



8/31/24, 10:38 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Match the List-T with List-IT

LISTI LISTII
Description Offence/ section
A | Death caused by a child of 6 vears I. |Exception 4 to Section 300
B. |Death committed without premeditation in a sudden fight II. | Right of private defence
C. |Death of trespasser of the House who was escaping III. | No offence
D |Death is caused in safeguarding property from mischief by fire | IV |Exception 2 to Section 300

Choose the correct answer from the options given below:

1. A-I, B-IIIL, C-II, D-IV
2. A-III, B-1I, C-IV, D-1
3. A-1, B-IV, C-III, D-IT

4. A-111, B-1, C-1V, D-IT

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212313274 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

il
oy

T I

Ty s
A | T 9UlY 90 gR1 INd 5 L |4RI200 &I 3Udlg 4
B. | 3B ISTs H Ud HieH & foA1 Sid g I m&ﬁﬁ
4 %ﬂ@%ﬂﬁﬁmﬂmaﬂﬁwwﬁaﬂaﬁﬁw . | ot
D. |3WTer! @1 RIP U YUl B & & | BId 5 IV. [ 4RT 300 &7 3(U4TG 2
A< faU U [qhedl T 9 W1 IR &1 9 DI

1. A1, B-III, C-I1, D-IV
2. A-III, B-11, C-IV, D-1
3. A-I B-1IV, C-II, D-II

4. A-II1, B-1, C-1IV, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212313275 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT
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LISTI LISTII
Rule Explanation
A Rule of Foreseeability I Two or more person combine to injure a third party by unlawful
© | Test " |mean
B. |Rule of Proximity II. |Re Polemis
C. | Tort of Conspiracy I[II. | Negligence
D. | Test of Directness IV, | Wagnamound No 1 case

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-1, D-II

2. A-1, B-II, C-IIL D-1IV

3. A-II1, B-1IV, C-11, D-1

4. A-11, B-1, C-IV, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212313275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

I I
" aﬁ?ﬁwm . ﬁma%#ﬂaaﬁﬂﬁ?ﬁ?@mﬂﬂﬁﬁaﬁﬁmw
fag D1 HYsld B o
B. | ot & fam . |diafy fdae ¥ defia
ST BT UHd 0L |JUa
D. |Tcgerdr uliam IV. |J9 A& 9. 1 Fa
A feu U fad el § 9§ Fg! 3R &l 994 DIl

1. A-IV, B-11I, C-1, D-II

2. A-L, B-1I, C-IIL, D-1V

3. A-III, B-1V, C-11, D-1

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212313276 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Tvpe of Government Name of Couniry
A | Constitutional Monarchy| 1. | Canada, Australia
B. |Dual Federalism I1. | United States of America
C. |Presidential III. | Denmark, Bhutan Belgium
D |Parliamentary IV | India and United Kingdom

Choose the correct answer from the options given below:

1. A-III, B-1, C-I1, D-IV
2. AL, B-III, C-II, D-IV
3. A-IIL B-II, C-1, D-IV

4. A-1, B-II, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212313276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
T T 10

TR (ITH) BT U S HTAH

oy AeidT L |@ren, sl

Sl URgyarg 1 |Tged I s
HET W a1 | 1L | 2991, YeH 3R sfcamy
YOET A a = | IV | YRd $iR gaEes fderen

A fSu U fasedl § O 9gt 3 &1 994 DIfoIU:

1. A-IIL, B-1, C-II, D-IV

ola|w|e

2. A-I, B-IL, C-II, D-IV
3. A-IL B-IL C-I, D-IV

4. A-1, B-11, C-1II, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212313277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI

IPR Treaties and Agreements|

Corresponding subject matter

LISTI

A | Strasbourg Agreement 1. | Trademark

B. |Nice Agreement II. | Audio-visual performance

C. |Beijing Treaty III. | International Patent classification

D | Singapore Treaty IV, | International classification of Goods

Choose the correct answer from the options given below:

1. A-I, B-III, C-IV, D-II

2. A-IIT, B-II, C-I, D-IV

3. A-1L, B-1, CIII, D-IV

4. A-IIT, B-IV, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212313277 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

a‘r@mmaﬂ«g‘ﬁ , HitrT i SR mﬁgm

A |EgE gEgian I g

B |7EH TEEa 11 |yo0exy s AweA

C. |difsT FHgi 101 | 3P 4 grifepnm

D. | FmyR ¥ IV. |HIe B =P FH D00
AId feu e fadedi O 9 Wgt SR &1 999 DifSIT:

1. A-I, B-III, C-IV, D-II

2. A-III, B-11, C-1, D-IV

3. A-IL B-I, C-IIL, D-IV

4. A-II1, B-1V, C-1I, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212313278 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Concept Section of Relevant Act
Unpaid seller I |5.16 of Sale of Goods Act, 1930
Caveat emptor and its exceptions [1. | 5.45 of Sale of Goods Act, 1930

Minor admitted to benefits of partnership | III. | 5.30 of Indian Partnership Act, 1932

o|la|w|e

Registration of partnership IV | 5.69 of Partnership Act, 1932

Choose the correct answer from the options given below:

1. A-II, B-1, C-1II, D-IV
2. A-L, B-II, C-IV, D-IIT
3. A-III, B-TV, C-11, D-1

4. A-IV, B-III, C-1, D-IT

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212313278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

T T i}

SFYURUT Wﬁﬁaﬁlwaﬁum
e [ L | = fassa aif¥fFae 1930 &1 URT 16
@l UIaUH 38 3R 8¢ AUarG | 1L |91 3@ HfUET 1930 B URT 45

TR & fodr Wigd Ha0w® | 11 | YRdig Seiart e 1932 ST 4R 30
rieR] &1 AT TH0 IV. | YR TRl SffgH 1932 &1 4RI 69

A fSu U fasedl § O 9gt 3 &1 994 DIfoIU:

1. A-IL, B-I, C-IIL, D-IV

ola|w|e

2. A-L, B-11, C-1IV, D-III
3. A-1II, B-1V, C-11, D-1

4. A-IV. B-11I, C-1, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212313279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LIST1 LISTII
List in Constitution Subject
A | Concurrent List I |In Civil marters
B. | State List II. |Marriage and Divorce
C. |Union List IT1. | Public health and Sanitation
D | Appellate Juristiction of Supreme Court| IV | Elections to the legislatures of State

Choose the correct answer from the options given below:
1. A-L B-1IV, C-II, D-III
2. A-IV. B-1I, C-II1, D-I
3. A-II, B-III, C-IV, D-I

4. A-IIT, B-IV, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212313279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S ST T
SHad! gl I | Ffaer #mat
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A [GU U [d&edl # U "ol 3R & 994 Bl

1. A-1, B-1IV, C-I1, D-HII

ola|w|e

2. A-1IV, B-1I, C-111, D-1
3. A1l B-IIL C-1IV, D-1

4. A-II1, B-1V, C-1I, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212313280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Case Point of Law

A | NG Dastane v. 5. Dastane (1973) 2 5CC 326| 1. | Desertion as a ground of divorce
B Court on its own motion (Lajja Devi) v. I Prohibition of Child Marniage Act, 2006 will

" | State (2012) 193 DLT 61 " | prevail over personal law
C Saroj Rami v. Sudershan Kumar AIR 1984 m 5. 23 (1) 1s not a bar to file a petition w's 13 (1A)

" | SC 1562 " | of Hindu Marriage Act.

= - — RS

D. :?;Igm Chandra v. Prabhavati ATR. 1937 5C IV | Pl aca st ol disoes

Choose the correct answer from the options given below:

1. A-IV, B-111, C-II, D-I
2. A-1IV, B-1I, C-III, D-1
3. A-IIIL, B-1V, C-11, D-1

4. A, B-1V, C-1, D-IT
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212313280 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy
A T I
e Rrgid
A |G Ol G5 9 T a5 (1975) TEHET 326 | 1L 3018 [9=se & oMY & w9 H UianT
@I 3 g2 3 AIRH (T 39+ ©d &
B. |UEd W) (T ¢ah a9 b (2012) 193 IL. %mﬂﬁ%mﬂalm“m%@u
Siudcl 61
| RIS T YR TR, TS HR 1984 THUT URT 13 (1)(@) B e T TR
C 1562 M 3 8 arr 2301) @) B T Td 21
D. |faft= dgr a4 wHIadl TSR 1957 Tl 176 | IV, | [dare-fawse & SR & &4 H gl
T ST U [9hedl § 9 a1 3R &1 994 DI

1. A-IV, B-11I, C-II, D-I

f-2

- A-TV, B-TI, G-I, D-1

3. A-III, B-1V, C-II, D-1

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212313281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI

Cyber Crime

LISTII

Punishments

Upto three vears imprisonment and fine up

A | Violation of Bodily Privacy L
to one lakh rupees

Publishing or transmirtting of material containing s @
B. Ay II. |Extend upto life imprisonment

sexually explicit act or conduct

i Upto five vears imprisonment and Fine

C. |Identity Theft II. spto Ten Lalth Bupees
B |cvic Tasicn v Upto 3 vears imprisonment with fine not

exceeding two lakh rupees

Choose the correct answer from the options given below:

1. A-I, B-1V, C-1II, D-1II
2. A-IV, B-III, C-1, D-II
3. A-IIL B-1IV, C-11. D-1

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212313281 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

a1 =1
HigdY AU v
A | TRifE W e & S L iﬁg?ﬂwaﬁ@w
B mmaﬁw HIE II. | 3ol BRI dd Fell §f Yl g
- : Ui Y do &1 PRIAM AR &4 arg
C. | a1 9 IIL ok
D. |HER AdHag IV, ?ﬁﬁgﬁﬂ&ﬂ%w?ﬁﬂﬂﬁ
A 3T U [qahedl § 1 g 3R &1 994 DI

1. A-I, B-TV, C-III, D-II
2. A-IV, B-III, C-1, D-II
3. A-IIT, B-IV, C-II, D-1

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212313282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LIST1I LISTII
Commissions and Tribunals Initial Establishment
A |National Commission for Backward Classes (NCBC)| 1. | 1992
B. |National Commission for Women (NCW) IL |2010
C. |National Green Tribunal (NGT) IIT. | 2004
D |National Commission for Scheduled Castes (NCSC) | TV | 1993

Choose the correct answer from the options given below:
1. A-IV. B-1, C-1I, D-III
2. A-1, B-II, C-III, D-1IV
3. AL B-1, C-IV, D-III

4. A-II, B-1L, C-1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212313282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

A | fusst i i (grdie) I [1992
B. | gty AfgTr T (Eissy) 1L |2010
C. |Wpa gRa AfEaor (@ =it &) 11 | 2004
D. | BT S i RN (GEioEdh | IV, [ 1993
i< fau U [daedl § 9 Wt 3R &1 9 DIfSIT:

1. A-IV, B-1, C-II, D-III

2. A-L, B-1I, C-IIL, D-1V

3. AL B-1, C1V, D-TIT

4. A-II, B-1II, C-1, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212313283 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Pre-requisites for protection Kind of IPR
A | Distinctiveness I | Copvright
B. | Originality II. | Geographical Indication
C. |Industrial Application III. | Trademark
D | Quality and Reputation of Goods| IV | Patents

Choose the correct answer from the options given below:
1. A-1, B-1I, C-IV, D-III
2. A-IIL B-IL, C-1, D-IV
3. AL B-1, C-IV, D-II

4. A-IV, B-III, C-1, D-IT

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212313283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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faferar L |ufafeanier
TN Gl 1 | FeRE
HITS ST 1L | =R g

el &1 Toral 3R @it | IV, |Ude
A fSu U fasmedl § U 9gt 30 &1 994 DIoIu:

1. A-I, B-II, C-IV, D-III

ola|w|e

2. A-III, B-11, C-1, D-IV
3. A-III, B-1, C-1V, D-I1

4. A-IV. B-11I, C-1, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212313284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI
Authors / Editors

LISTII
Titles of Books

J. Crowe & KW

Bothe

A 1. | The Hand book of International Humanitarian Law (ed), OUP
Scheuber
8. | charlotte Lutf o Persecution International Refugee Law and Refuges: A Feminist
Approach
, — Conflict of Displacement and Legal Protection understanding
. | Muathilds Cicpin Ly Asylum, Human Rights and Refugee Law
D. Bl e ek CiGel IV. | Principles of International Humanitarian Law

Choose the correct answer from the options given below:

1. A-I, B-II, C-IV, D-1III

2. A-1II, B-1, C-1V, D-I1

3. AL B-1, CII, D-IV

4. A-IV, B-11I, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212313284 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

I

e e

SECEZRLICE
A |- P TSE S L |gesy® 1P Sez-a sghfeReH of @fszm st g )
B. |=meid @® 1. |URagaH, ST JHu dl TS {geie- T il ik
A Piftiae 3 fETTTHE TUE TiTe Uicae: 3iEeefdn
“ i | orersem, g wse we YW A
D. gg%gg" e IV. | RUe 1% Sex-gHd ggaHeia af

A f6U U f[ddedl #4981 SR 1 999 BII;

1. A-I, B-II, C-IV, D-III
2. A-1II, B-1, C-1V, D-II
3. A-II, B-1, C-III, D-IV

4. A-IV, B-111, C-II, D-1

Options :

1.1

2.2

3.3

4.4
Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Id : 34212313285 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

2
342123520
No

Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Read the following passage carefully and answer the questions.

The Shriram Gas leak case pitted the Supreme Court against one of India’s largest corporation. CJ
Bhagwati presided over the Supreme Court bench and was deeply concerned for safety of
citizens. He was anxious to improve plant - safety, a task which the statutory agencies seemed
incapable of performing. The Honorable Chief Justice saw in the Oleum case a way of
influencing the far more important Bhopal gas leak case. The Shriram case has also raised some
important questions concerning the true scope and ambit of Articles 21 and 32 of the
Constitution. The case also dealt with Principles and Norms of determining the liability of large
enterprises engaged in manufacturing and sale of hazardous products. It also decided the basis on
which damage should be quantified and whether the corporation should be allowed to function
from thickly populated areas and if they are allowed what measures should be taken for
minimising hazards to workmen. This led the Parliament to enact law & articulate new standard
of absolute liability in 1991.

Sub questions

Question Number : 141 Question Id : 34212313286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the Shriram Gas Leak case, the Chief Justice was mainly concerned with which of the
following?

1. Safety of citizen
2. Profit of companies
3. Disaster in community

4. Aftermath of gas leak

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212313287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Statutory agencies seem incapable of performing which of the following task?

1. Safety of citizen
2. Plant safety
3. Safety of Community

4. Prevention of disaster
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Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212313288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As an effect of Shriram Gas Leak case. the Law enacted by Parliament in 1991 dealt with:-
1. Private liability
2. Storage of hazardous substances

3. Absolute liability

4. Safety of plants and animals

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212313289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Judgement in Shriram Gas Leak case influenced the decision of:-

1. Shrimp case

2. Goel Ganga case

L8]

. Bhopal Gas leak case

4. Clean Narmada case
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212313290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The Shriram Gas Leak case did not focus on which of the following issue?

1. Scope of Arts. 21 and 32 of Constitution

(]

. Norms of determining liability of large corporation
3. Basis of quantifying damages

4. Measures of increasing profit of company

Options :
1.1
2.2
3.3
4.4

Question Id : 34212313285 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

g erir ot ufetr 9 39S a1e B U Uyl & IR SHIT:

SR T 419 AME] Yh0 & GRUMTAGEEY YR &l Iddq O URd & JaU 99
I (ERURTA) ¥ 9 U6 & f9%< TST g3 g7 AREfd Wdd H I=dd Iy &
UG DI A& DI 3R d AFRS! DI Y& DI dhr 1R Fu ¥ fHfca 41 9 9g7 i
GRef ¥ YR &l ddbx f&fad 4, ag T & o1 {59 Hare | wifdfde ueiftat sfem udid
gidl AT - geer g ei=r 3 il i dd (3fergw) Yoo 390 $gl 2Hfdd Tgedyul HiuTd
T RYTd YUl &l UHIAd - arall ¢ | R UbR01 Y Hde & 3w96 21 3R a6 32
o IR &3 SR 34! URIY U Yeed oo Hgayul U4 SR T 1 39 UH0l § URYdheay
Idel & faair 2R f9! 1 &34 a1 99 I9Hl & Gid 41 3961 alidd auid
&= et ufquEf &1 o YogagR T | 39H 39 a1 Ui iy foar mn g 6
ford ofMeR W efagfd wfde?) ST 9 &1 (iR fdar SHET ey 3R U8 (6 SRURTH 3
g1 3MTETE] dTcd &l U HRIGR DR b S{Fafd &1 W1 91feT a1 el 3R afe 3 3gafd &1 Sidi
¢ dl DUHRI & URYDHE DI AT B3 & ot ®IH U Iul {HU I d1igU] 30d Heae1
URd &I GUe 9 9y 1991 H J0f <iffed &1 941 AFd [HuiRd S gt fafy sifefaig
fhar

Sub questions

Question Number : 141 Question Id : 34212313286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IR 719 7919 Yo o g8 AR gea: [Agifed o fég 91d &f da f[Hidd 9.
1. AR Bl GR&
2. HUfTal & oH
3. Qe I Suar
4. 719 R9rd & &1 &1 uRiRufd

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212313287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hiaferes vt fafafad o 9 fog $rd & e o sied Udid gkl 6:
1. ANTR®! P GRef
2. TTF Bl YRAT

3. GG I YRAM
4. 3{1gel fdRT

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212313288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SR 719 19 UH0 & Baaey gy 1991 H Tg gRI fe=aiid fafe FAgfaRaa # g
fepo deferd -

1. TSl <o
 IRE®H A g B HERU
Ul g1
UTGY G S Dl GRAT

I

L

-+

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212313289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R 719 7919 Uehvl & ol § FafeRad & O {69 Uaul & <y uyiidd ga:
1. imare

RS RIY I

3. HIUTe 19 919 YRl

(g

4. I3 THGI Al

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212313290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IR 719 7919 ghvor f (afafad o O {6y gg . 9d 81 fearman
faeT & 3G 21 3R 32 BT &

. g¢ 7 &1 €1« 3aUTiRd & et ufdd=

 &ifagfd (Afde ) Bt AEn Ui S &1 fiaR

4. U] T A JoH Jad U™

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3

Sub-Section Id : 342123521
Question Shuffling Allowed : No

—

g

L

Question Id : 34212313291 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage carefully and answer the questions.

From the second half of the nineteenth century to the present. the Geneva Convention 1864,
(revised in 1906, 1929, and 1949) and Hague Convention 1899 (revised in 1907) comprised one
of the most extensive bodies of positive international law outlining constraints on state behavior.
The Geneva and Hague Conventions are noteworthy not only for their content. but also for their
widespread ratification. Accepting the Conventions was a prestigious symbol of membership in
the exclusive “international society of civilized states.” and most states ratified them sooner or
later. The Conventions gave combatant victims of war-wounded soldiers and POWSs-international
rights to medical care and humane conditions of incarceration. The Hague Convention was built
on a fundamental distinction between combatants and noncombatants. designed to ensure that
noncombatants did not become wvictims of war. Noncombatants were not considered legitimate
military targets, and military occupation authorities were prohibited from exploiting civilian
populations under their control.

Sub questions

Question Number : 146 Question Id : 34212313292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What motivated the States to ratify the Geneva and Hague Conventions?

1. The Conventions being prestigious symbol of membership in the international society of
civilized states

2

. The Conventions being the most extensive body of positive international law
3. As the Conventions enlist constraints on state behavior

4. As the Conventions prescribe international rights of medical care

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212313293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the fundamental distinction on which the Hague Convention was built?

1. Distinction between military occupation and civil population

]

. Distinction between positive international law and laws of the war
3. Distinction between combatants and non-combatants

4. Distinction between military targets and military authorities

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212313294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What do Hague Convention 1899 and Geneva Convention 1864 primarily outline?

1. Human conditions of incarceration

[

. Constraints on State Behavior
3. Rights of victims of war

4. Rights of wounded soldiers
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212313295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What makes Geneva Convention (1864) noteworthy?

|. It’s content alone

[

. It’s widespread ratification alone
3. It’s content and its wide spread ratification

4. The new international rights created by the Geneva Convention

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212313296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which International Instrument predominantly ensures that noncombatants did not become
victims of war?

. Positive international law

]

. The Geneva Convention
3. The Hague Convention

4. International Humanitarian law

Options :
1.1
2.2
3.3
4.4

Question Id : 34212313291 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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forg TTeri=T 1 Ufe 9 SUF AT I Y W & I R

AT gat & fgdiae ¥ 9duq 99y 9% a1 fHTEg 1864, (1906, 1929 3R 1949 H
GUTGNY,) 3R g7 TUTHT, 1899 (@Y 1907 H TYRRNET) H G & HdgR dddl Sl
@13y DT TURWEN Udd B dTell YPRIAD RIPI 3T & Haifus Aus Foal 7 9
Udh (b1 TAGd U1l SHdT 3R 871 HIUGTT 9 dhad HU-T [au-a¥d 1 ddHe Ieeid-1d ¢,
Udd 9gc WX IR 29d] 39U g4 & HRUl 1 78 Hgdyol 81 3Hgadl &l WidhR dl
3 K G & SHRIPT A H YEGIAT I Uh YHMSD Hbd (Udlld) Ul 3R
DI <= HH A Bl THB1 AHEST HId U1 29 HUgud! B uRviid & =0 4 gs &
dig® Uifsd add 9iHe 3R ggdcl gU - SRAR H |8 g4 R by caud 3R
G <=0 Haell AP SHUGR GU S & GAUTd 311 37 AT &1 H1d digd 3R
RAOled & 99 Gayd 99 & YR R i 73 0 oo o a8 IRET o= ot fh
RAIgD ST g IiSd 81 -1 Sl SHAy g | i g1 4 3¢ f[afis o 9 34
A& IS T T YT 3R A1 & USRIl &l 30 HIAumd 8= S & g d
TS B3 G ufauy fadr 1 41|

Sub questions

Question Number : 146 Question Id : 34212313292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad O 9 fog oRuae fafiE <=1 ST e 3R g7 SUyay & SHuqeH H3-
& fefu SfyURd gu:

L. TS AHTAY Y = & SARRPIT YA H G dl ST D Udid U

2. FIfh AHTHT YHRIAD H~RUPHY faf¥l & FaifUd s FHahm A1

3. i ST ¥ =11 & HdgR Yot S1413fl &1 Yaitas fhar 7 o |

4. i ATHATT H RS ED T T & AP iR FuiRkd (fafga) feumu gl

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212313293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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11 MUY Held: fhd fade IR (memid o
1. U Iusiiad! 3R T SHTHP & He 3R
2. GHRIHAS AP fafY 2R g Fvig 70 & 7 2R
3. e AR RAlGd & A faug
4. T 7167 3R I W1 & A 3R

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212313294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%‘T%ﬁ?ﬂﬂ 1899 3R SiHdT 3T, 1864 H UH@a: FHfeiRgd o U fhaed! Ul Udd
CARIERS:

L. Siet & 3@ S Bl JET a=1

2. I P HdgR Tt HiSTE !
3. 9 UIfSdi & 3MfUdR
4. °919d YS! & MUBR

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212313295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fraifed o ¥ g SR SHaT 3T (1864) SwiEA1Y
1. had SUP] [duday]
2. Hhdd ST AD TS
3. 39! [AYga] 3R SHS! A SHHHdH
4, ST SATHIHT & Hekaey Jiold U AR AR

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212313296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeiRad ® 9 fbd SicRRyTd forad (gfe) U UuH U ¥ g8 gHidd gidr ¢ i IR-aled
S 9AfP gg-Uifsd 181 g1

L. HHRIHAD T iy
2. ST HfHEHY

3. 891 SfUgHy

4. AT AFAdIErC] fafy

Options :
1.1
2.2
3.3
4.4
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